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Unit – I: General Science 
 

Physics 
1. Among the following plants, which one has oil repelling property? 

A. Tobacco  B. Maize  C. Hibiscus  D. Aloe Vera 
,tw;Ws; ve;j jhtuk; „vz;nzapid tpyf;Fk; jpwd;‟ cilaJ?  
A. Gifapiy  B. kf;fhr;Nrhsk; C nrk;gUj;jp D. fw;whio  
 

2. In vaccum all objects fall with 
A. Same acceleration and heavy bodies reach ground first 
B. Same acceleration and reach the ground at the same time 
C. Different acceleration and reach the ground at different time 
D. Different acceleration and heavy bodies reach ground first 
vy;yh nghUs;fSk; ntw;wplj;jpy; tpOk;NghJ  
A. KLf;fk; xNu msthfTk;> epiw kpFe;j nghUl;fs; jilia Kjypy; 

njhLk;  
B. KLf;fk; xNu msthfTk;> vy;yh nghUl;fSk; xNu Neuj;jpy; jiuia 

njhLk;  
C. KLf;fk; ntt;NtwhfTk; ntt;NtW Neuj;jpy; jiuia njhLk; 
D. KLf;fk; ntt;NtwhfTk;> epiw kpFe;j nghUl;fs; Kjypy; jiuia 

njhLk;  
 

3. The time of reverberation of a hall can be decreased by 
A. having a number of loud speakers 
B. opening all windows and doors 
C. closing all windows and doors 
D. speaking loudly 
xU miwapy; vjph; KOf;f Neuj;ijf; Fiwg;gjw;F 
A. mjpf vz;zpf;ifapy; xyp ngUf;fpfis gad;gLj;jyhk;  
B. vy;yh [d;dy; fjTfis jpwe;J itf;f Ntz;Lk;  
C. vy;yh [d;dy; fjTfis %b itf;f Ntz;Lk;  
D. rj;jkhf Ngr Ntz;Lk;  
 

4. The unit for equivalent conductivity is 
A. ohm-1 cm-1  B. ohm-1 cm-2 eq-1 
C. ohm-1 cm2 eq-1  D. S cm-2 eq-1 
rkhd flj;J jpwdpd; myF  
A. ohm-1 cm-1  B. ohm-1 cm-2 eq-1 
C. ohm-1 cm2 eq-1  D. S cm-2 eq-1 

 
5. Nuclear forces are  

A. strongly attractive force     B. strongly repulsive force  
C. attractive or repulsive depend on nucleans  D. gravitational forces  
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mZf;fU tpir vd;gJ 
A. mjpf mstpy; <h;f;ff; $baJ  
B. mjpf mstpy; vjph;g;G tpir 
C. mZf;fU Jfis nghUj;J <h;g;G tpirahfNth my;yJ vjph;g;G 
tpirahfNth mikAk;    
D. GtpaPh;g;G tpir 
 

6. According to Moseley‟s law the frequency of the spectral line in X-ray 
spectrum varies as  
A. Atomic number of the element  
B. Square of the atomic number of the element  
C. Square root of atomic – number of element  
D. Fourth power of the atomic number of the element  
Nkh];yp-apd; tpjpg;gb miykhiyapd; mjph;ntz;izg; nghUj;J X-
fjph;fspd; miy khiy vt;thW khWgLfpwJ? 
A. jdpkj;jpd; mZ vz;izg; nghUj;J 
B. jdpkj;jpd; mZ vz;zpd; ,U klq;ifg; nghUj;J   
C. jdpkj;jpd; mZ vz;zpd; th;f;f %yj;ijg; nghUj;J 
D. jdpkj;jpd; mZ vz;zpd; ehd;F klq;if nghUj;J 
 

7. A Cathode Ray Oscilloscope (CRO) is used to measure _______ of a  signal. 
 A. voltage  B. frequency   C. phase        D. all the above 
vjph; kpd;;tha; fjph; miyT fhl;b (CRO)> Fwpirifapd; __________I 
msf;f gad;gLfpwJ. 

A. kpd;dOj;jk; B. mjph;ntz; C. fl;lNfhzk; D. Nkw;fz;l ahTk; 
 

Chemistry 
 

8. Nitrous Oxide is known as Laughing gas. It is also used in medical field as 
A. Instant horse power   B. Propellant 
C. Antiseptic    D. Anesthetic 
iel;u]; Mf;irL rphpg;G+l;Lk; thA vd miof;fg;gLfpwJ. NkYk; ,J 
kUj;Jt Jiwapy; gpd;tUkhW gad;gLfpwJ. 
A. cldb Fjpiu jpwd;  B. ce;J nghUshf 
C. fpUkp ehrpdpahf    D. kaf;f kUe;jhf  
 

9. Methane is the carbon compound. It‟s Molecular Formula is 
A. CH4  B. CH3Cl  C. C2H6 D. CCl4 
kPj;Njd; xU fhh;gid nfhz;Ls;s xU %yf;$W. mjDila %yf;$W 
tha;g;ghL 
A. CH4  B. CH3CI  C. C2H6  D. CCI4 
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10. Which of the following is strong acid and strong base reaction? 
A. HCOOH + NH3  B. HCOOH + NaOH 
C. HCl + NH3   D. HCl + NaOH 
gpd;tUtdtw;Ws; tPhpa kpFe;j mkpyk; kw;Wk; tPhpa kpFe;j fhu tpidia 
Njh;e;J vLf;fTk;.  
A. HCOOH + NH3  B. HCOOH + NaOH 
C. HCl + NH3   D. HCl + NaOH 
 

11. Find the wrong pair/pairs 
1. Metabolism   - sum total of enzymatic reactions  
2. Auxin    - Photosynthesis 
3. Photolysis of water  - Growth 
4. Oxidative phosphorylation – Respiration 
A. 1 and 2  B. 2 only  C. 2 and 3  D. 3 and 4 
jtwhd ,iz / ,izfisf; fz;Lgpb. 
1. tsh;rpij khw;wk;    - xl;Lnkhj;j nehjpfspd; tpidfs;  
2. Mf;]pd;     - xsph;Nrh;f;if  
3. ePhpd; xspg;gpsj;jy;    - tsh;r;rp  
4. Mf;]p[Ndw;w gh];ghPfuzk;  - Rthrk;  
A. 1 kw;Wk; 2 B. 2 kl;Lk;  C. 2 kw;Wk; 3 D. 3 kw;Wk; 4 

 
12. Which spectroscopy is used in chemical examination of interstellar space? 

A. Microwave Spectroscopy  B. Infrared (IR) Spectroscopy 
C. Raman Spectroscopy  D. NMR Spectroscopy 
tpz;ntspapd; Ntjp Muha;r;rpf;F ve;j miykhiyapay; gad;gLfpwJ 
A. Ez;ziy miykhiyapay;  
B. mfr;rptg;G (IR) miykhiyapay;  
C. uhkd; miykhiyapay;  
D. mZf;fU fhe;j xj;jjph;T miykhiyapay;  
 

13. The Indian Salt Petre is 
A. Ammonium nitrate (NH4NO3) 
B. Sodium nitrate (NaNO3) 
C. Potassium nitrate (KNO3) 
D. Calcium nitrate Ca(NO3)2 
,e;jpad; rhy;l; gPl;lh; vd;gJ 
A. mk;Nkhdpak; iel;Nul; (NH4HO3) 
B. Nrhbak; iel;Nul; (Na NO3) 
C. nghl;lhrpak; iel;Nul; (KNO3) 
D. fhy;rpak; iel;Nul; Ca (NO3)2 
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14. The main constituent of steel in India are 
A. Ni and Cu    B. Mn and Cr 

C. Fe and Cu    D. Ti and Cr 
,e;jpahtpy; cs;s ,Uk;gpd; Kf;fpa %yg;nghUs;  
A. epf;fy; kw;Wk; jhkpuk;  B. khq;fdPR kw;Wk; FNuhkpak;  
C. ,Uk;G kw;Wk; jhkpuk;  D. ill;Nldpak; kw;Wk; FNuhkpak; 
 

15. Which one of the compounds is not a protonic acid? 
 A. SO (OH)2  B. SO2 (OH)2 C. B (OH)2  D. Po (OH)2 
gpd;tUk; Nrh;kj;jpy; vJ GNuhl;lhd; mkpyk; my;y? 
A. SO (OH)2  B. SO2 (OH)2 C. B (OH)2  D. Po (OH)2 
 

16. SO2 acts as 
 A. a reducing agent    
 B. an oxidizing agent 
 C. both reducing and oxidizing agent  
 D. neither reducing nor oxidizing agent 

SO2 vd;gJ 
A. xLf;Fk; fhuzp    B. Mf;rp[d; Vw;wp 

  C. Mf;rp[d; Vw;w xLf;Fk; fhuzp  D. ,uz;LNk ,y;iy 
 
17. What is the covalency of nitrogen in ammonia molecule? 

 A. 2   B. 4   C. 3   D. 5 
 mNkhdpahtpy; cs;s iel;u[dpd; rfgpizg;G vz; 

A. 2   B. 4   C. 3   D. 5 
 

Biology 

18. What happens in human Thalassemias? 
1. Reduce - - globin synthesis 
2. Reduce  - globin synthesis 

3. Enhance   and   - globin synthesis 

A. 1 alone correct  B. 2 alone correct 
C. 1 and 2 are correct D. 3 alone correct 
jyrPkpah Neha; cs;sth;fSf;F vit eilngWfpwJ?  
1. α- FNshgpd; cUthtJ Fiwf;fg;gLfpwJ  
2. β - FNshgpd; cUthtJ Fiwf;fg;gLfpwJ 
3. α- kw;Wk; β- FNshgpd; cUthtJ mjpfhpf;fg;gLfpwJ  
A. 1 kl;Lk; rhp    B. 2 kl;Lk; rhp 
C. 1 kw;Wk; 2 kl;Lk; rhp D. 3 kl;Lk; rhp  
 

19. Which of the following plant boosts the production of red blood cells? 
A. Turmeric  B. Tulsi C. Lemon grass  D. Mustard 
gpd;tUtdtw;wpy; ve;j jhtuk; ,uj;j rptg;gZ cw;gj;jpia J}z;lf; 
$baJ?  
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A. kQ;rs;   B. Jsrp  C. vYkpr;rk; Gy;  D. fLF  
 

20. Which one of the following is need on a non-conventional source of raw 
material for the paper production? 
A. Bamboo    B. Casuarina 
C. Sugarcane bagasse  D. Eucalyptus 
fPNo nfhLf;fg;gl;Ls;sitfspy; vit „kuGrhuh cw;gj;jp nghUshf fhfpjk; 
jahhpf;f gad;gLfpwJ. 
A. %q;fpy;  B. rTf;F  C. fUk;G rf;if  D. A+fhypg;l];  
 

21. Consider the following Endocrine glands: 
1. Islets of Langerhans  - Produce Insulin 
2. Thyroid gland   - Produce diabetes 
3. Adrenal gland  - Produce Goitre 
Which of the following is correctly matched? 
A. 1 only  B. 1 and 2 only C. 2 and 3 only  D. 1, 2 and 3 
fPo;nfhLf;fg;gl;Ls;s ehskpy;yh Rug;gpfspy; vJ rhpahf nghUe;Jk;: 
1. Inyl;]; Mg; Nyq;fh;fhd; - ,d;Rypid nfhLf;Fk;  
2. ijuha;L Rug;gp   - rh;f;fiu tpahjpia nfhLf;Fk;  
3. mlhpdy; Rug;gp   - Kd; fOj;J fyioia nfhLf;Fk;  
A. 1 kl;Lk;    B. 1 kw;Wk; 2 kl;Lk;  
C. 2 kw;Wk; 3 kl;Lk;   D. 1> 2 kw;Wk; 3 
 

22. Which one called from the development and the maturation of the 
erythrocyte from the haemocytoblast? 
A. Erythropoiesis  B. Erythrocynin 
C. Erythrocyte   D. Haemotocyte 
fPo;f;fz;ltw;wpy; ,uj;j rptg;G mZf;fs; `pkl;Nlhgpsh];bfspypUe;J 
cUthfp Kjph;r;rp miltjw;F ngah;  
A. vhpj;jpNuhgha;rp];   B. vhpj;jpNuhirdpd;  
C. vhpj;jpNuhirl;    D. `pkl;Nlhirl;  
 

23. Combined drug in use to cure the Malaria is  
A. Quinine  B. Fansidar  C. Chloroquine  D. Primaquine  
kNyhpahit Fzg;gLj;j jw;NghJ gad;gLj;jg;gLk; $l;L kUe;J vJ? 
A. Fapidd;  B. Ngd;rplh; C. FNshNuhFapd;  D. gpiukhFapd; 
 

24. In mammals the mammalian glands are modied gland of following  
1. Salivary gland   2. Sebaceous gland  3. Pituitary gland  
A. I only   B. 2 only  C. 1 and 2 only   D. 1 and 3 only  
ghY}l;bfspy; ghy; Ruf;Fk; Rug;gpfs; gpd;tUk; Rug;gpahf khw;wg;gl;L 
nray;gLfpwJ. 
1. ckpo;ePh; Rug;gp  2. rNgrpa]; Rug;gp 3. gpl;a+l;lhp Rug;gp 
A. 1 kl;Lk; B. 2 kl;Lk; C. 1 kw;Wk; 2 kl;Lk; D. 1 kw;Wk; 3 kl;Lk; 
 

25. Which of the following ecological Pyramid is always upright?  
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A. Pyramid of energy   B. Pyramid of number  
C. Pyramid of biomass  D. B and C  
gpd;tUtdtw;wpy; vJ Neuhd #o;epiyapay; $k;G? 
A. Mw;wy; $k;G   B. vz;zpf;if $k;G  
C. vil $k;G    D. (B) kw;Wk; (C) 

 
26. The end product of anaerobic respiration is 

 A. Acetyl Co-A   B. Ethanol alchol 
 C. Pyruvic acid   D. Succinic acid 

fhw;wpy;yh Rthrj;jpy; ,Wjpahf fpilf;fg; ngWtJ 
A. mrpily; Co-A  B. vj;jpy; My;f`hy;    
C. igUtpf; mkpyk;  D. rf;rpdpf; mkpyk; 

 
27. Golden rice is a genetically modified crop.  Where the incorporated gene is 

meant for biosynthesis of 
 A. Vitamin A  B. Vitamin B 
 C. Vitamin C  D. Vitamin D 
Nfhy;ld; mhprp vd;gJ xU kugZ khw;wg;gl;l gaph; MFk;. ,jpy; 
xUq;fpize;j kugZ caphpa nrwpTf;fhdJ. 

A. tpl;lkpd; A B. tpl;lkpd; B C. tpl;lkpd; C D. tpl;lkpd; D 
 

28. Most widely used bioweapon is 
 A. Bacillus subtilis   B. Vibrio cholera 
 C. Bacillus anthracis  D. Escherichia coli 
 kpfg; gutyhf gad;gLk; caphp MAjk; 

A. Ngrpy;y]; rg;by;yp]; B. tpg;hpNah fhyNu 
C. Ngrpy;y]; Me;juhrp]; D. v];n]hprpah Nfhiy 

 

 

Unit – II: Current Affairs 
 

1. Match the following 
Person   Eminent field/designation 
a. Abid Hussain  1. Former Attorney General of India 
b. K. Parasaran  2. Former Ambassador of India to the USA 
c. Subhash Kashyap 3. Former Judge of AP High Court 
d. K. Punniya  4. Former Secretary General, Lok Sabha 
 a b c d 
A. 1 2 3 4 
B. 4 2 1 3 
C. 3 1 2 4 
D. 2 1 4 3 
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nghUj;Jf: 
egh;     Jiw / gjtp  

 a. mgpj; cNrd;  1. Kd;dhs; ,e;jpa jiyik tof;fwpQh; 
 b. K. guhrud;  2. mnkhpf;fhTf;fhd Kd;dhs; ,e;jpa J}jh; 

c. Rgh~; f~;ahg;  3. Kd;dhs; Me;jpuh cah;ePjpkd;w ePjpgjp  
d. K. Gdpah  4. Kd;dhs; nghJ nrayh;> ,e;jpa kf;fsit  
 a b c d 
A. 1 2 3 4 
B. 4 2 1 3  
C. 3 1 2 4  
D. 2 1 4 3  
 

2. 2018. This initiatives is related to 
1. To design and demonstrate market ready products based on cutting – 

edge technologies 
2. To provide grants upto Rs.1 crore 
3. Related to agriculture and industrial sectors any 
Select correct answer using the code given below 
A. 1 and 2  B. 1 and 3  C. 2 and 3  D. 1 only 
Vg;uy; 26> 2018 md;W epjp MNahf; „mly; Gjpa ,e;jpah rthy;fs;‟ vd;w 
jpl;lj;ij mwpKfk; nra;jJ. ,j;jpl;lk; ,tw;NwhL njhlh;GilaJ. 
1. cah; njhopy; El;gj;Jld; $ba re;ijg;gLj;j jahuhf cs;s 

nghUl;fis tbtikj;J tpsf;Fjy;.  
2. &gha; 1 Nfhb tiu epjpAjtp  
3. Ntshz;ik kw;Wk; njhopw;JiwNahL kl;Lk; njhlh;GilaJ 
FwpaPLfspy; ,Ue;J rhpahd tpilia njhpT nra;f.  
A. 1 kw;Wk; 2  B. 1 kw;Wk; 3 C. 2 kw;Wk; 3 D. 1 kl;Lk;  
 

3. Cord Blood Banks located at _____ in Tamil Nadu 
A. Chennai B. Coimbatore C. Madurai  D. Trichy 
njhg;Gs; nfhb uj;jr; Nrkpg;G tq;fp jkpofj;jpy; vq;F mike;Js;sJ?  
A. nrd;id  B. Nfhak;Gj;J}h;  C. kJiu  D. jpUr;rp  
 

4. Pandit Deendayal Upadhyay National Welfare fund assisting to whom? 
A. Outstanding Research Scholars 
B. Outstanding Writers 
C. Outstanding Sports Persons 
D. Outstanding Farmers 
gz;bl; jPd;jahs; cghj;jpaha Njrpa ey cjtpj;njhif ahUf;F 
toq;fg;gLfpwJ?  
A. rpwe;J tpsq;Fk; Muha;r;rpahsh;fSf;F  
B. rpwe;J tpsq;Fk; vOj;jhsh;fSf;F  
C. rpwe;J tpsq;Fk; tpisahl;L tPuh;fSf;F  
D. rpwe;J tpsq;Fk; tptrhapfSf;F  
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5. What is the purpose of Gaganyaan project reveals by ISRO? 
A. Three Indians would be sent to space 
B. Communication development 
C. Protection to fishermen including assistance to them 
D. Assisting customs in anti-smuggling operations 
,];Nuh ntspg;gLj;jpAs;s “ffd;ahd; jpl;lj;jpd;” Nehf;fk; vd;d?  
A. %d;W kdpjh;fis tpz;ntspf;F mDg;Gjy;  
B. jfty; njhlh;G  
C. kPdth;fis ghJfhg;gJ kw;Wk; mth;fSf;fhd cjtp mspg;gJ  
D. fs;sf;flj;jiy jLg;gjw;fhd nray;Kiwfspy; cjtpahf ,Ug;gJ  
 

6. Jallikattu, the bull taming sport of Tamil culture and tradition is protected 
according to article ______ of the Constitution of India 
A. 29(1)  B. 39(1)  C. 49(1)  D. 59(1) 
[y;ypfl;L> VWjOTjy; tpisahl;L vd;w jkpohpd; fyhr;rhu kw;Wk; gz;ghL 
,e;jpa murikg;gpd; ______ tpjpapd; gb ghJfhg;G mspf;fg;gl;Ls;sJ.  
A. 29(1)  B. 39(1)  C. 49(1) D. 59(1)  
 

7. Country‟s first transgender clinic was established at 
A. Gujarat  B. Maharashtra C. Kerala  D. Assam 
ekJ ehl;by; jpUeq;iffSf;fhd rpwg;G kUj;Jtkid vk; khepyj;jpy; 
epWtg;gl;Ls;sJ?  
A. F[uhj;  B. kfhuh~;buh C. Nfush  D. m];]hk;  

 
8. Which scientific agency recently discovered evidence of water in asteroids? 

A. JAXA  B. NASA  C. ISRO  D. CASIC 
ve;j mwptpay; Ma;T epWtdk; rpWNfhs;fspy; jz;zPh; ,Ug;gij rkPgj;jpy; 
fz;L gpbj;jJ?  
A. JAXA  B. NASA  C. ISRO  D. CASIC  
 

9. India‟s first indigenous microprocessor is known as 
A. Shakti  B. NASA  C. JAXA  D. NITI 
,e;jpahtpy; Kjd; Kiwahf cs;ehl;bNy jahuhd Ez;nrayp 
A. Shakti   B. NASA  C. JAXA  D. NITI  
 

10. Kargil Vijay diwas observed in 
A. 26 September 2018  B. 24 September 2018 
C. 26 July 2018   D. 24 August 2017 
fhh;fpy; tp[a; jpdk; filgpbg;gJ 
A. 26 nrg;lk;gh; 2018    B. 24 nrg;lk;gh; 2018  
C. 26 [Piy 2018    D. 24 Mf];l; 2017  
 

11. Consider the following statements, find the “wrong” one 
1. Section 377 of the IPC recently reported in the news is associated with 

Lesbian, Gay, Bisexual, Transgender and Queer (LGBTQ) Rights 
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2. Joseph shine Vs Union of India is the case related to 497 of the IPC 
3. Indian Young Lawyers association Vs state of Kerala is related to women 

Rights 
4. Yashwant Vs State of Maharashtra is the case associated with Right to 

education 
A. 4 only  B. 2 and 3 only  C. 4 and 3 only  D. 1 only 
fPo;fz;l $w;Wfis fUJf> mjpy; cs;s jtwhd $w;iw fz;lwpf.  
1. elg;G nra;jpfspy; te;j ,.jr. 377 gw;wpa epfo;thdJ “LGBTQ” 

chpikfSld; njhlh;GilaJ MFk;.  
2. N[hrg; rhapd; vjph; ,e;jpa xd;wpak; vd;w tof;F ,.j.r. 497-Tld; 

njhlh;GilaJ MFk;.  
3. ,e;jpa ,sk; tof;fwpQh;fs; vjph; Nfus muR vd;w tof;F ngz;fs; 

chpikNahL njhlh;GilaJ MFk;.  
4. a];te; vjph; kfhuh~;buk; muR vd;w tof;F fy;tp chpik rl;lj;NjhL 

njhlh;GilaJ MFk; 
A. 4 kl;Lk;  B. 2 kw;Wk; 3 kl;Lk; C. 4 kw;Wk; 3 kl;Lk;  D. 1 kl;Lk;  
 

12. Jal Kranti Abhiyan was not launched in the following Indian cities  
A. Raipur  B. Jaipur C. Shimla  D. Jhansi 
„[y; fpuhe;jpa mgpahd;‟ jpl;lk; ,e;jpahtpy; gpd;tUk; ve;j efuj;jpy; 
mky;gLj;jg;gltpy;iy  
A. uha;G+h;  B. n[a;G+h;  C. ]pk;yh  D. [hd;rp  
 

13. Doklam Standoff is related between the countries of  
A. India – China   B. India – Bhutan 
C. India – Tibet   D. India – Nepal 
“Nlhf;yhk; gpur;rid” njhlh;Gila ehLfs;  
A. ,e;jpah – rPdh   B. ,e;jpah – G+l;lhd; 
C. ,e;jpah – jpngj;   D. ,e;jpah – Neghsk;  
 

14. „SAMPRITI 2017‟ is a joint military exercise between armed forces of India 
and 
A. Bhutan B. Bangladesh C. Pakistan  D. Myanmar 
„rk;g;hpjp 2017‟ vd;gJ ,e;jpah kw;Wk; ____________ MAjg; gilfspd; 
$l;L uhZtg; gapw;rp MFk;. 
A. g+lhd; B. gq;fshNj~; C. ghfp];jhd; D. kpahd;khh; 
 

15. In November 2017 and Indian short film “The School Bag” Won the Best 
short film award at the South Asian Film festival held at Montreal. Who 
among the following is the Director of the film? 
A. Anurag Kashyap  B. Dheeraj Jindal 

C. Sujoy Ghosh   D. Samvida Nanda 
etk;gh; 2017 md;W khz;l;hpaypy; eilngw;w njw;F Mrpa jpiug;gl 
tpohtpy; “jp ];$y; Ngf;” vd;w ,e;jpaf; FWk;glk; rpwe;j FWk;glj;Jf;fhd 
tpUijg; ngw;wJ. fPo;f; Fwpg;gplg;gl;lth;fSs; mg;glj;jpd; ,af;Feh; ahh;? 
A. mDuhf; f~;ahg;   B. jPu[; [pd;lhy;    
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C. R[ha; Nfh~;    D. rhk;tpj;ah ee;jh 
 

16. The “Social Protection Index” has been coined by 
A. Asian development bank  
B. world bank  
C. UNDP – United Nations Development Programme 
D. Planning commission of India 
“rKjha ghJfhg;G FwpaPL” ahuhy;  cUthf;fg;gl;lJ? 
A. Mrpa tsh;r;rp tq;fp    B. cyf tq;fp  
C. If;fpa ehLfspd; tsh;r;rp jpl;lk; D. ,e;jpa jpl;lf; FO 
 

17. Who is the head of the three-members Lokayukta search committee? 
 A. Thiru K. Venkatraman  B. Thiru K. Chanduru 
 C. Thiru M.K. Krishnamoorthy D. Thiru A. Raja 

%d;W Ngh; nfhz;l Nyhf; MAf;jh-tpd; NjLjy; FO jiyth; ahh;? 
A. jpU. K. ntq;fl;uhkd;  B. jpU. K. re;JU 
C. jpU. M.K. fpU~;z%h;j;jp  D. jpU. A. uh[h 

 
18. For which country Prime Minister of India announced Rs. 4,500 crore for 

hydropower projects 2018? 
 A. Nepal  B. Pakistan  C. Bhutan  D. Sri Lanka 
ve;j ehl;bw;F ,e;jpa gpujk ke;jphp mth;fs; &. 4>500 Nfhb ePh; kpd; 
jpl;lq;fSf;fhf gq;fspg;gjhf 2018-y; mwptpj;jhh;? 
A. Neghsk;  B. ghfp];jhd; C. g+lhd;  D. ,yq;if 

 
19. Which statue is called as “Statue of unity”? 

 A. Statue of Liberty    B. Statue of Mahatma Gandhi 
 C. Statue of Sardar Vallabhai Patel  D. Statue of A.P.J. Abdul Kalam 
 ahUila rpiy xw;Wikapd; rpiyaha; fUjg;gLfpwJ? 

A. Rje;jpuj;jpd; rpiy      B. kfhj;kh fhe;jpapd; rpiy 
C. rh;jhh; ty;ygha; gNlypd; rpiy  D. V.gp.N[. mg;Jy; fyhkpd; rpiy 

 
20. Which scheme is a placement linked skill training programme to empower 

rural poor youth? 
A. Pradhan Mantri Awaas Yojana – Gramin 
B. Pradhan Mantri Yuva Udyami Vikas Abhiyan 
C. Deen Dayal Upadhyaya Grameen Kaushalya Yojana 
D. Deen Dayal Yuva Vikas Abhiyan 
fpuhkg;Gw ,isQh;fspd; Ntiy tha;g;Gf;fhd jpwik gapw;rp mspg;gJ ve;j 
jpl;lk;? 

A. gpujhd; ke;jphp Mth]; Nah[dh – fpuhkpd; 
B. gpujhd; ke;jphp Ath cjakp tpfh]; mgpahd;  
C. jpd; jahy; cghj;aha fpuhkpd; nfs~y;a Nah[dh 
D. jpd; jahy; Ath tpfh]; mgpahd; 
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21. When did the Prime Minister of India inaugurate the country‟s   longest rail-
cum-road bridge built over the Brahmaputra river at Bogibeel near 
Dibrugarh in Assam? 

 A. On November 25, 2018  B. On December 25, 2018 
 C. On December 10, 2018  D. On November 10, 2018 
gpuk;kGj;jpuh Nky; cs;s ehl;bd; kpf ePz;l uapy; kw;Wk; rhiyf;fhd 
ghyj;ij m];]hkpy; jpgpUfhh;~; mUfpYs;s Ngh[PgPy; vd;w ,lj;jpy; ,e;jpa 
gpujkh; vg;nghOJ njhlq;fp itj;jhh;? 

A. etk;gh; 25> 2018  B. brk;gh; 25> 2018 
C. brk;gh; 10> 2018  D. etk;gh; 10> 2018 

 
22. The China‟s space craft that probe farside of the moon is 

 A. Sputnic – 1 B. Chang’s 4 C. Chang‟s 3 D. Cosmos 3 
 epyhtpd; kWgf;fj;ij Muha rPdh mDg;gpa tpz;fyj;jpd; ngah; vd;d? 

A. ];Gl;dpf; 1 B. rhq; 4  C. rhq; 3 D. fh];Nkh]; 3 
 

23. The Prime Minister of India announced the Havelock Island in Andaman and 
Nicobar renamed as: 

 A. Netaji Subash Chandra Bose Island B. Shaheed Dweep Island 
 C. Swaraj Dweep Island   D. Virsavarkar Island 
me;jkhd; epf;NfhghhpYs;s N`t;yhf; jPtpw;F ,e;jpa gpujkuhy; mwptpf;fg;gl;l 
ngah; vd;d? 

A. Nejh[p Rgh~; re;jpu Ngh]; jPT  B. rh`pj; jP/g; jPT  
C. Rtuh[; jP/g; jPT    D. tPurth;f;fh jPT 

 
24. How many states in India have achieved 100% Household  

electrification? 
 A. 10 States  B. 12 States  C. 13 States  D. 15 States 
,e;jpahtpy; vj;jid khepyq;fspy; 100% tPLfSf;F kpd;trjp 
Vw;gLj;jg;gl;Ls;sJ?  
A. 10 khepyq;fs;  B. 12 khepyq;fs; C. 13 khepyq;fs;  D. 15 khepyq;fs;  

 
 

Unit – III: Indian Geography 
 

1. Consider the following statement: 
1. North-Western part of India get rainfall during North-East monsoon 
2. In India, Red panda is found in the western Himalayas 
3. Tamil Nadu get much rainfall during South-West monsoon 
Which of the statements(s) given above is/are correct? 
A. only 1 B. Only 2  C. Both 1 and 2 D. Both 3 and 1 
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fPNo nfhLf;fg;gl;Ls;s thf;fpaj;ijf; ftdp. 
1. ,e;jpahtpd; tl-Nkw;F gFjp> tl fpof;F gUtf;fhw;W fhyq;fspy; 

kioia ngUfpwJ 
2. ,e;jpahtpd; Nkw;F ,ka kiyg;gFjpfspy; rptg;G ghz;lh 

fhzg;gLfpwJ.  
3. njd;Nkw;F gUtf;fhw;W fhyj;jpy; jkpo;ehL mjpf msT kioia 

ngWfpd;wJ.  
NkNy nfhLf;fg;gl;Ls;s thf;fpaj;jpy; vit(fs;) rhpahdJ. 
a. 1 kl;Lk;  B. 2 kl;Lk;  C. 1 kw;Wk; 2 D. 3 kw;Wk; 1 
 

2. Which of the following is recognized as the Regional Tsunami service 
provider for Indian Ocean Region? 
A. Thuthukkudi B. Chennai C. Hyderabad D. Bhuvaneshwar 
gpd;tUtjdpy; vJ ,e;jpa ngUq;fly; gFjpf;fhd gpuhe;jpa Rdhkp Nrit 
ey;fpahf nray;gLfpwJ. 
A. J}j;Jf;Fb  B. nrd;id  C. i`jpuhghj; D. GtNd];thp  

 
3. Which type of Forests grows well in a area receiving rainfall exceeds 250 cm, 

and temperature is 25°C to 27°C 
A. Tropical Semi – Evergreen Forest 
B. Tropical Wet – Evergreen Forest 
C. Tropical Moist Deciduous Forest 
D. Dry Tropical Forests 
250 nr.kP f;Fk; mjpfkhf kio nghopT kw;Wk; 25°C Kjy; 27°C tiu 
ntg;gk; cs;s gFjpfspy; vt;tif fhLfs; fhzg;gLfpd;wd?  
A. mad kz;ly ghjp gRik khwhf; fhLfs;  
B. mad kz;ly <ug;gjkpf;f gRik khwhf; fhLfs;  
C. mad kz;ly <ug;gjkpf;f ,iyAjph; fhLfs;  
D. twz;l mad kz;ly fhLfs;  
 

4. 1. Project Tiger is a Tiger conservation scheme 
2. It was launched on 1 April 1983 
3. 27 Tiger Reserves have been setup in 17 states under this scheme 
Which of the statements given above is/are correct? 
A. 1 only  B. 1 and 3  C. 1, 2 and 3 D. 2 and 3 
1. g;uh[f;l; ilfh; vd;gJ Gypfs; ghJfhg;gpw;fhf Vw;gLj;jg;gl;l jpl;lkhFk;.  
2. ,j;jpl;lk; Vg;uy; 1> 1983 y; Vw;gLj;jg;gl;lJ 
3. ,j;jpl;lj;jpdhy; 27 Gypfs; ghJfhg;gfk; 17 khepyq;fspy; 
Vw;gLj;jg;gl;Ls;sJ.  
Nkw;Fwpg;gplg;gl;Ls;stw;Ws; vJ / vit rhpahdit?  
A. 1 kl;Lk;  B. 1 kw;Wk; 3 C. 1, 2 kw;Wk; 3 D. 2 kw;Wk; 3 
 

5. Which type of rainfall is closely associated with Equatorial Region? 
A. Orographic rainfall  B. Frontal or cyclonic rainfall 
C. Convectional rainfall D. Monsoon rainfall 
G+kj;jpag; gFjpapy; nghopAk; kioapd; tif  
A. kiy jil kio    B. tspKf my;yJ Gay; kio  
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C. ntg;gryd kio   D. gUtf; fhw;W kio  
 

6. Match the correct pair 
Planets   Density 
A. Mercury  1.000 
B. Jupiter  19.182 
C. Earth  0.387 
D. Uranus  5.203 
rhpahd ,iziaj; Njh;T nra;. 

Nfhs;   mlh;j;jp  
 A. nkh;Fhp    - 1.000 
 B. [_g;gpl;lh;  - 19.182 
 C. G+kp   - 0.387 
 D. ANud];   - 5.203 
 

7. Consider the following statements 
1. 21 June – Summer solstices more radiation received by northern 

hemisphere 
2. 23 September – Autumn equinox not equal radiation in both hemisphere 
3. 22 December – Winter solstice more radiation received by southern 

hemisphere 
Select the correct answer using the code given below: 
A. 1 and 2  B. 1 and 3  C. 2 and 3  D. 1, 2 and 3 
gpd;tUk; $w;wpid fUj;jpy; nfhs;f.  
1. 21 [_d;   - tlNfhsj;jpd; mjpfkhd ntg;gepiy ngwg;gLfpwJ 
2. 23 nrg;lk;gh;  - khjk; rkkhd mstpy; tl kw;Wk; njd;  
     JUtq;fspy; ntg;gepiy ,Ug;gjpy;iy  
3. 22 brk;gh;  - Fsph; fhyj;jpy; njd; JUtk; mjpf ntg;gepiy  
     ngWfpwJ  
fPNo nfhLf;fg;gl;Ls;s FwpaPLfspy; ,Ue;J rhpahd tpilia Njh;e;njL. 
A. 1 kw;Wk; 2 B. 1 kw;Wk; 3 C. 2 kw;Wk; 3 D. 1, 2 kw;Wk; 3  
 

8. How many seismic zones grouped in India? 
A. 4  B. 5  C. 6  D. 8 
,e;jpahtpd; Gtp mjph;T kz;lyq;fs; vj;jid?  
A. 4  B. 5  C. 6  D. 8 
 

9. Sabarmathi river flowing states 
A. Madhya Pradesh, Rajasthan and Gujarat 
B. Gujarat and Rajasthan 
C. Madhya Pradesh and Bihar 
D. Maharashtra and Jharkand 
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rgh;kjp MW ghAk; khepyq;fs; vit?  
A. kj;jpa gpuNjrk;> ,uh[];jhd; kw;Wk; F[uhj;  
B. F[uhj; kw;Wk; ,uh[];jhd;  
C. kj;jpa gpuNjrk; kw;Wk; gPfhh;  
D. kfhuh~;buh kw;Wk; [hh;fz;l; 

 
10. Inversion of Temperature occurs during 

A. Short nights 
B. Long summer night and chill night 
C. Long winter night and clear sky 
D. Cloudy sky 
ntg;gk; jiyfPohf khWtjw;f;F Njitg;gLk; #o;epiyfs;  
A. Fiwe;j ,uT   
B. ePz;l Nfhil fhyk; kw;Wk; Fsph; fhw;W  
C. ePz;l Fsph; fhyk; kw;Wk; njspthd thdk;  
D. Nkfk; %ba thdk;  
 

11. With reference to black soil, consider the following statements: 
1. It is generally clayey, deep and impermeable 
2. They swell and become sticky when wet and shrink when dried 
3. It retains the moisture for a very long time 
Which of the above statements is/are correct? 
A. 1 only  B. 1 and 2 only C. 3 only  D. 1, 2 and 3 
fUg;G kz; njhlh;ghf> fPo; nfhLf;fg;gl;l njhFg;Gfis KbT nra;f. 
1. nghJthf fspkz; jd;ik> Mokhd kw;Wk; ePh; flj;jptlh 
 jd;ik nfhz;lJ. 
2. <ukilAk; nghOJ cg;gyhfTk;> cyUk; nghOJ RUq;fpAk; 
 fhzg;gLk;. 
3. <uj;jd;ikia ePz;l fhyj;jpw;F jf;f itj;Jf; nfhs;Sk;. 
NkNy nfhLf;fg;gl;l njhFg;gpy; vJ/vitnay;yhk; rhpahdit? 
A. 1 kl;Lk; B. 1 kw;Wk; 2 kl;Lk; C. 3 kl;Lk; D. 1> 2 kw;Wk; 3 
 

12. Different types of vegetation is found in different parts of India – due to 
A. Topography 
B. Unequal distribution of Rainfall and Temperature 
C. Soil 
D. Temperature and soil 
gy;NtW tifahd jhtuq;fs;> ,e;jpahtpd; gy;NtW gFjpfspy; 
mike;Js;sikf;F fhuzk; 
A. ,lmikT 
B. ntg;gepiy kw;Wk; kiog;nghoptpd; rkkw;w guty; 
C. kz; 
D. ntg;gepiy kw;Wk; kz; 
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13. „Namami Gange‟ – Clean Ganga is responsible for implementing the 
programme under 
A. Rural electrification   B. Environment protection 
C. Swachh Bharat 2014  D. Awareness through village panchayats 
„ekhkp fq;Nf‟ Rj;jkhd fq;if vd;gJ ve;j epfo;fhhpaj; jpl;l epfo;r;rpapy; 
cs;tUk;? 
A. fpuhkg;Gw kpd;rhuk;  B. Rw;Wr; #oy; ghJfhg;G 
C. Rtr; ghuj; 2014  D.fpuhk gQ;rhaj;J %yk; tpopg;Gzh;T 
 

14. How many Islands in Andaman- Nicobar Islands were renamed by our 
Prime Minister on December 30, 2018? 
A. 5  B. 4  C. 3  D. 2 
me;jkhd; epf;Nfhghpy; cs;s vj;jid jPTfSf;F 2018> brk;gh; 30 md;W 
ekJ gpujkh; kWngahpl;lhh;?  
A. 5  B. 4  C. 3  D. 2 
 

15. If the diameter of the earth becomes two times its present value and its mass 
remains unchanged then how would the weight of an object on the surface 
of the earth be affected.  
A. Becomes half    B. Becomes one-fourth  
C. Becomes one-third   D. Remains unaffected  
g+kpapd; tpl;lk; ,U klq;F mjpfhpf;Fk; NghJ mjd; nghUz;ik khwhky; 
,Uf;fpwJ vdpy; g+kpapd; Nkw;gug;gpy; cs;s nghUspd; vil vt;thW 
NtWgLfpwJ? 
A. ghjp MfpwJ    B. ehd;fpy; xU gFjpahfpwJ  
C. %d;wpy; xU gFjpahfpwJ  D. khwhky; ,Uf;fpwJ 
 

16. The Urban Heat island effect is due to  
1. Concrete floor in Urban area. 
2. Low moisture content in the soil. 
3. High wind velocity. 
4. High rainfall. 
Which one of the above is/are correct? 
A. 1 and 4  B. 1 and 2  C. 1, 2 and 3 D. 4 only 
“efu ntg;gj; jPT” Vw;gLtjw;F 
1. efuk; KOtJk; fhd;fphPl;lhyhd fbd Nkw;gug;G 
2. kz;zpd; Fiwthd <ug;gjk; 
3. mjpf fhw;wpd; Ntfk; 
4. mjpf kiog; nghopT 
NkNy nfhLf;fg;gl;litfspy; vit(fs;) rhpahdJ? 
A. 1 kw;Wk; 4 B. 1 kw;Wk; 2 C. 1> 2 kw;Wk; 3 D. 4 kl;Lk; 
 

17. Golden Quadrilateral distance between Chennai and Kolkatta is 
 A. 1684 Km  B. 1453 Km  C. 1290 Km  D. 1419 Km 
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nrd;id – nfhy;fj;jh ,ilNaahd jq;f ehw;fur; rhiyapd; J}uk; vt;tsT? 
A. 1684 fp.kP. B. 1453 fp.kP. C. 1290 fp.kP. D. 1419 fp.kP 

 
18. Match the following rivers with its famous towns: 

          Rivers     Towns 
a. The Ganga  1. Surat 
b. The Brahmaputra 2. Agra 
c. The Yamuna  3. Guwahati 
d. The Tapti   4. Benares 

     a b c d 
A. 2 1 4 3 
B. 3 4 1 2 
C. 3 4 2 1 
D. 4 3 2 1 
fPNo nfhLf;fg;gl;Ls;s ejpfis> mjd; Gfo; tha;e;j efuq;fNshL 
njhlh;GgLj;Jf. 
 ejpfs;    efuq;fs; 
a. fq;fh    1. #uj; 
b. gpuk;kGj;jpuh   2. Mf;uh  
c. aKdh    3. Fth`j;jp 
d. jg;jp    4. gdhu]; 

a b c d 
A. 2 1 4 3 
B. 3 4 1 2 
C. 3 4 2 1 
D. 4 3 2 1 

 
 

Unit – IV: History and Culture of India 
 

1. Which one of the stages of Man‟s progress is not properly matched? 
A. Primitive food collecting stage – Stone age 
B. Advance food collecting stage – Mesolithic age 
C. Food production stage – Chalcolitic age 
D. Urbanisation – Bronzeage 
fPo;fhZk; ve;j kdpj tsh;r;rp ghpkhzk; rhpahf nghUj;jg;gltpy;iy?  
A. gpd;jq;fpa czT Nrfhpf;Fk; epiy  - fw;fhyk;  
B. Kd;Ndwpa czT Nrfhpf;FK; epiy - ,il fw;fhyk;  
C. czT jahhpf;Fk; epiy    - rhf;ypfpjpf; fhyk;  
D. efukakhf;Fjy;     - ntz;fy fhyk;  
 

2. The most outstanding Buddhist writer in Sanskrit was 
A. Kalidasa  B. Asvaghosa C. Bharavi    D. Kumaradasa 
rk];fpUj;jpy; rpwe;J tpsq;fpa Gj;j vOj;jhsh;  
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A. fhspjhrh;  B. m];tNfhrh;  
C. ghutp   D. Fkhujhrh;  
 

3. Arrange in chronological order: 
1. Battle of Chausa  2. Death of Babar 
3. Battle of Kanaoj  4. Death of Akbar 
A. 1-2-3-4  B. 4-3-2-1  C. 2-1-3-4  D. 3-1-2-4 
fPo;fz;litfis fhy thpirg;gLj;Jf:  
1. nrsrh Nghh;f;fsk;  
2. ghghpd; kuzk;  
3. fd;Ndh[; Nghh;f;fsk;  
4. mf;ghpd; kuzk;  
A. 1-2-3-4  B. 4-3-2-1  C. 2-1-3-4  D. 3-1-2-4 
 

4. The writing method of Iudus Script was 
A. From left to right only 
B. From right to left only 
C. From left to right and right to left 
D. From right to left and left to right 
rpe;J rkntsp vOj;J Kiw vd;gJ 
A. ,lkpUe;J tykhf vOJtJ kl;Lk;  
B. tykpUe;J ,lkhf vOJtJ  kl;Lk;  
C. ,lkpUe;J tykhf vOJtJ kw;Wk; tykpUe;J ,lkhf  
D. tykpUe;J ,lkhf kw;Wk; ,lkpUe;J tykhf vOJtJ  
 

5. With reference to Sangam period which of the following pair is/are not 
correct? 
A. Tramiradesa Sanghatam - Confederacy of Tamil States 
B. Udiyanseral   - First Chera Mannan 
C. Madurai Kanchi  - Mangudi Marudan 
D. Naura     - Tondi 
rq;f fhyk; njhlh;ghd tpguq;fspy; fPo;fz;litfspy; ve;j ,iz njhlh;G 
mw;W cs;sJ 
A. jpUkpuNjr rq;fhjk;  - jkpo; kd;dh;fspd; $l;likg;G  
B. cjpad;Nruy;   - Kjy; Nru kd;dd;  
C. kJiu fhQ;rp   - khq;Fb kUjk;  
D. eTuh;    - njhz;b  
 

6. Name the famous dancer who crowned as „Kathak King of India? 
A. Prem Chand   B. Sambhu Maharaj 

C. Thyagarajar   D. Fate Singh 
„,e;jpahtpd; fjf; eld murd;‟ vd miof;fg;gLk; eldf; fiyQhpd; ngah; 
A. gpNuk;re;j; B. rk;G kfhuh[h C. jpahfuh[h; D. Ngj; rpq; 
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7. Who was recognised as the „Successor of Sivaji‟? 
A. Balaji Viswanath   B. Balaji Baji Rao 
C. Rajaram    D. Bhonsle of Nagpur  
„rpth[papd; thhpR‟ vd mq;fPfhpf;fg;gl;lth; ahh;? 
A. ghyh[p tp];tehj;  B. ghyh[p gh[p uht;    
C. ,uh[huhk;   D. ehf;g+hpd; ghd;];Ny 
 

8. The Battle of Talikota was fought in the year  
A. 1575  B. 1565   C. 1545   D. 1555 
jiyf;Nfhl;ilg; Nghh; eilngw;w tUlk; 
A. 1575  B. 1565  C. 1545  D. 1555 
 

9. Which of the following pairs are correctly matched?  
1. City of Jaunpur   - Firuz Tughluq 
2. City of Ahamadabad  - Ahmad shah  
3. Zain-ul-Abidin   - The Akbar of Kashmir 
4. Founder of Khalji Dynasty in Malwa  - Husain Shah 
A. 1, 2, 3 only  B. 2, 3 only   C. 3, 4 only  D. 1 only  
fPo;f;fz; ,izfspy; rhpahf ,izf;fg;gl;Ls;sij fz;Lgpb. 
1. [Td;g+h; efuk;      - gpNuh[h Jf;sf; 
2. mfkjhghj; efuk;     - mfkJ ~h 
3. [apd; cy; mgpjPd;     - fh~;kPhpd; mf;gh; 
4. khy;thtpy; fpy;[p tk;rj;ij epWtpath; - ci~d; ~h 
A. 1> 2> 3 kl;Lk; B. 2> 3 kl;Lk; C. 3> 4 kl;Lk; D. 1 kl;Lk; 

 
Unit – V: Indian Polity 

 
1. Article _________ was inserted into the constitution under the 73rd 

Constitutional Amendment 
A. 245B  B. 244B  C. 243B  D. 242B 
murpay; rhrd tpjp ______ 73tJ murpay; jpUj;jr; rl;lj;jpdhy; 
murpayikg;gpy; Nrh;f;fg;gl;lJ. 
A. 245B  B. 244B  C. 243B  D. 242B 
 

2. Who among the following was the Cabinet Minister without portfolio? 
A. C. Rajagopalachari   B. T.T. Krishnamachari 
C. N. Gopalaswami Ayyangar D. G.L. Nanda 
fPo;tUgth;fSs; ahh; ,yhfh ,y;yhj kj;jpa mikr;ruhfpath;?  
A. C. uh[Nfhghyhr;rhhp   B. T.T. fpU~;zkhr;rhhp 
C. N. Nfhghyrhkp Iaq;fhh;  D. G.K. ee;jh  
 

3. Which one of the following statement is not with regard to powers of the 
Parliament? 
A. Parliament can approve three types of emergency provisions 
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B. It cannot abolish State Legislative Council 
C. It can alter boundaries of the states 
D. It can establish a common High Court for two or more states 
ehlhSkd;wj;jpd; mjpfhuq;fs; njhlh;ghf gpd;tUgtdtw;wpy; vit rhpay;y?  
A. ehlhSkd;wk; %d;W tpjkhd mtru epiyg; gpufldj;ij mDkjpf;fyhk;.  
B. ehlhSkd;wk; khepy rl;l Nkyitia ePf;f KbahJ 
C. khepyq;fspd; vy;iyfis khw;w KbAk;  
D. xU caph;ePjpkd;wj;ij ,uz;L my;yJ mjw;F Nkw;gl;l khepyq;fSf;F 

Vw;gLj;jyhk;.  
 

4. The sequence in which the given terms are mentioned in the preamble to the 
constitution of India is: 
A. Sovereign, Socialist, Secular, Democratic, Republic 
B. Socialist, Secular, Sovereign, Democratic, Republic 
C. Secular, Sovereign, Democratic, Socialist, Republic 
D. Sovereign, Democratic, Secular, Socialist, Republic 
murpayikg;gpy; Kfg;Giuapy; Fwpg;gplg;gl;Ls;s nfhs;ifapd; rhpahd 
thpir.  
A. ,iwahz;ik> rkjh;kk;> rkarhh;gw;w kf;fshl;rp> Fbahl;rp  
B. rkjh;kk;> rkarhh;gw;w> ,iwahz;ik> kf;fshl;rp> Fbahl;rp  
C. rkarhh;gw;w> ,iwahz;ik> kf;fshl;rp> rkjh;kk;> Fbahl;rp  
D. ,iwahz;ik> kf;fshl;rp> rkarhh;gw;w> rkjh;kk;> Fbahl;rp  
 

5. Which one of the following concept is not Rule of Law? 
A. Natural justice B. Fair play  C. Equity D. Judicial equality 
fPo;tUgtw;Ws; vJ “rl;lj;jpd; fl;rp” fpilahJ?  
A. ,aw;if ePjp      B. epahakhd nraw;ghL  
C. rkkhf elj;jg;gLk; (xt;nthUtUk;) #oy; D. ePjp rkj;Jtk;  
 

6. Who headed provincial constitution committee of constituent assembly? 
A. J.B. Kirpalani   B. H.C. Mukherjee 
C. A.V. Thakkar   D. Sardar Vallabai Patel 
murpayikg;G eph;za rigapd; gpuhe;jpa murpayikg;G fkpl;bapd; 
jiytuhf ,Ue;jth; ahh;?  
A. J.B. fph;ghydp   B. H.C. Kfh;[p 
C. A.V. jhf;fh;   D. rh;jhh; ty;ygha; gl;Nly;  
 

7. Who among the following was not a member of Drafting Committee? 
A. K.M. Munshi   B. Alladi Krishnaswamy Ayyar 
C. Pattabhi Sitaramayya D. Krishnamachari 
fPo;fz;ltw;wpy; vth; tiuTf; FOtpy; cWg;gpduhf ,lk; ngwtpy;iy?  
A. K. Kd;rp    B. my;yhb fpU~;zrhkp Iah; 
C. gl;lhgp rpj;jhuhka;ah D. fpU~;zkhrhhp  
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8. The Judiciary was separated from the Executive under which article 
A. Article 50 B. Article 64 C. Article 60 D. Article 51 
ePjp JiwahdJ eph;thf Jiwaplk; ,Ue;J ve;j fPo;fz;l rl;l cWg;G %yk; 
gphpf;fg;gl;lJ?  
A. rl;l cWg;G 50  B. rl;l cWg;G 64 
C. rl;l cWg;G 60  D. rl;l cWg;G 51 
 

9. The Government of India issued the citizenship (Pondicherry) order in the 
year 
A. 1962 B. 1964 C. 1969 D. 1967 
,e;jpa murhq;fk; Fbkf;fs; chpik (ghz;br;Nrhp) Mizia ntspapl;l 
Mz;L  
A. 1962 B. 1964 C. 1969 D. 1967 
 

10. The Essence of “Judicial Activism” is an 
A. Active Justice delivery system 
B. Active Implementation of Rule of Law 
C. Active interpretation of Law 
D. Active Intervention of Judiciary 
“nraY}f;fk; nfhz;l ePjp toq;fy;” vd;gjd; cs;slf;fk;  
A. tpiuthf ePjp toq;FtJ  
B. rl;lj;jpd; fl;rpia Cf;fkhf eilKiwg;gLj;JtJ 
C. Cf;fkhf rl;lj;ij tpsf;fp $WtJ 
D. Cf;fkhf ePjpJiw jiyapLtJ  
 

11. Balwant Rai Mehta Committee in its report suggested 
A. Three tier system  B. One tier system 
C. Four tier system  D. Two tier system 
gy;te;j;uha; Nkj;jh FOtpy; mwpf;ifapy; ghpe;Jiuf;fg;gl;lJ 
A. %d;W mLf;F Kiw   B. xuLf;F Kiw  
C. ehd;F mLf;F Kiw   D. ,uz;L mLf;F Kiw  
 

12. Jagjit Singh Vs State of Haryana (2007) is the case related to  
A. Electoral Reform 
B. Election Commission 
C. Member (MLA’s MP’s) support from outside 
D. Criminalization of politics 
n[fjpj;rpq; Vs. `hpahdh khepy muR (2007) tof;F ______ Jld; 
njhlh;GilaJ 
A. Njh;jy; rPh;jpUj;jk;    
B. Njh;jy; Mizak;  
C. cWg;gpdh;fs; (MLA‟s, MP‟s) ntspapy; ,Ue;J MjuT jUjy;  
D. murpay; Fw;wthspfs; kakhjy;  
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13. With reference to NITI AAYOG, which of the following statements is/are 
correct?  
i. Transforming and development agenda of India  
ii. Promoting growth and development  
A. i only   B. ii only  C. i and ii only  D. Neither i nor ii  
epjp MNahf; fUj;Jg;gb> fPo;f;fz;ltw;Ws; vJ rhpahd $w;W vd;gij 
fz;Lgpbf;f. 
(i) ,e;jpahtpd; tsh;r;rp Nehf;fq;fis khw;Wif nra;tJ. 
(ii) tsh;r;rp kw;Wk; Kd;Ndw;wj;ij Nkk;gLj;JtJ. 
A. (i) kl;Lk;   B. (ii) kl;Lk;  
C. (i) kw;Wk; (ii) kl;Lk;  D. (i) kw;Wk; (ii) jtwhdit 
 

14. Name the Prime Minister when for the first time the No-Confidence was 
moved in the Parliament?  
A. Jawaharlal Nehru   B. Lal Bahadur Shastri  
C. Indira Gandhi   D. Morarji Desai  
ehlhS kd;wj;jpy; Kjd; Kiwahf ek;gpf;ifapy;yh jPh;khdk; nfhz;L te;j 
NghJ gpujk mikr;ruhf ,Ue;jth; ahh;? 
A. [t`h;yhy; NeU  B. yhy; gfJ}h; rh];jphp 
C. ,e;jpuh fhe;jp   D. nkhuhh;[p Njrha; 
 

15. Which of the following statements regarding the fundamental duties 
contained in the Constitution of India are correct? 

I. Fundamental Duties have formed apart of the Constitution of India 
since its adoption. 

II. Fundamental Duties are applicable only to the Citizen of India. 
III. Fundamental Duties have become a part of the Constitution of India in 

accordance with the recommendation of the Swaran Singh Committee. 
IV. Fundamental duties can be enforced through writ jurisdiction. 
A. I, II and III correct  B. I, II and IV correct 
C. II, III correct   D. III and IV correct 
fPo;f;fz;l $w;Wfspy; rhpahdtw;iw Njh;T nra;f. gpd;tUk; ,e;jpa 
murpayikg;G rl;lj;jpd; mbg;gil flikfs; Fwpj;J tUk; rhpahd $w;Wfs; 
ahit? 
I. ,e;jpa murpayikg;G rl;lk; cUthf;fpajpy; ,Ue;J mbg;gil flik 

xU gFjpahf ,Ue;J tUfpwJ. 
II. mbg;gil flik ,e;jpaf; FbkfDf;F kl;LNk nghUe;Jk;. 
III. ];tud; rpq; FO %yk; mbg;gil flikfis Xh; gFjpahf 

murpayikg;G rl;lj;jpy; Nrh;f;fg;gl;lJ. 
IV. ePjpg; Nguhizfs; %yk; mbg;gil flikfis epiyehl;l KbAk;. 
,tw;wpy; 
A. I, II kw;Wk; III rhp  B. I, II kw;Wk; IV rhp 
C. II, III rhp    D. III kw;Wk; IV rhp 
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16. Creamy layer concept was first introduced in the case of 
A. Lakshmikant Sukla Vs State of Uttar Pradesh 
B. Indra Sawhney Vs Union of India 
C. K.K. Roy Vs State of Tripura 
D. Jitender Kumar Vs State of Uttar Pradesh 
“nrOik mLf;fpdh;” vDk; fUj;jhdJ Kjd; Kjypy; mwpKfg;gLj;jg;gl;l 
tof;F 

A. yl;Rkpfhe;j;;; Rf;yh Vs cj;jpug;gpuNjr muR    
B. ,e;jpuhrfhdp Vs ,e;jpa a+dpad; 
C. K.K. uha; Vs jphpGuh muR 
D. [pj;Nje;jh; Fkhh; Vs cj;jpug;gpuNjr muR 
 

17. Which of the following statements about the first amendment to the 
constitution is are true? 

I. The first amendment was enacted in 1952 
II. The first amendment was enacted before the first general elections. 
III. It was enacted by the provisional parliament. 
A. I and II are true   B. II and III are true 

C. I and III are true  D. I, II and III are true 
Kjy; jpUj;jr; rl;lj;ijg; gw;wpa thf;fpaq;fspy; vit/vJ cz;ikahdit? 

I. Kjy; jpUj;jr; rl;lk; 1952-y; ,aw;wg;gl;lJ. 
II. Kjy; jpUj;jr; rl;lk; Kjy; nghJj; Njh;jYf;F Kd;G ,aw;wg;gl;lJ. 
III. ,J jw;fhypf ghuhSkd;wj;jhy; ,aw;wg;gl;lJ. 
A. I kw;Wk; II rhp    B. II kw;Wk; III rhp 
C. I kw;Wk; III rhp   D. I, II kw;Wk; III rhp 

 
18. The financial control exercised by the Parliament over the executive through 

A. The comptroller and Auditing General of India. 
B. The Auditor General 
C. The Finance Secretary 
D. The Accountant General 
,e;jpa ghuhSkd;wk; nrayhl;rp mYtyh; kPJ jdJ epjp rhh;e;j fl;Lg;ghl;il 
nrYj;;;;Jk; ,th; topNa MFk;. 

A. ,e;jpa jiyik fzf;F kw;Wk; jzpf;if mYtyh; 
B. ,e;jpa jzpf;if jiyth;    
C. epjpj;Jiw nrayhsh;    
D. jiyik fzf;F mYtyh; 

 
19. The Comptroller and Auditor General is appointed by the President of India 

under which Article 
 A. Article 162 B. Article 148 C. Article 153 D. Article 174 
,e;jpa jiyikj; jzpf;ifahsiu ve;j tpjpapd; gb FbauRj; jiyth; 
epakdk; nra;fpwhh;? 
A. tpjp 162  B. tpjp 148  C. tpjp 153  D. tpjp 174 
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20. Consider the following statements: 
1. Article 308 to 314 of the constitution with regard to the All India services. 
2. Article 308 exclusively apply to the Jammu and Kashmir. 
3. The Parliament has enacted the All India Services Act in 1952. 
4. Article 312 empowers the Parliament to create new All India Services 
Choose the correct answer: 
A. 1 and 4  B. 2 only  C. 4 only  D. 4 and 3 
fPo;tUk; thf;fpaj;ij fUJf. 
1. cWg;G 308 Kjy; 314 tiuapyhd murikg;Gr; rl;lk; mfpy ,e;jpa 

gzpfs; gw;wp $WfpwJ. 
2. cWg;G 308 Kw;wpYk; [k;K fh~;kPh; tptfhuq;fSf;fhdJ. 
3. ghuhSkd;wk; mfpy ,e;jpa gzpfs; rl;lj;ij 1952-Mk; Mz;L ,aw;wpaJ. 
4. cWg;G 312 ghuhSkd;wj;jpw;F Gjpa mfpy ,e;jpa gzpia cUthf;f 

mjpfhuk; mspf;fpwJ. 
rhpahd tpiliaj; Njh;e;njLf;f. 
A. 1 kw;Wk; 4 B. 2 kl;Lk;  C. 4 kl;Lk;  D. 4 kw;Wk; 3 
 

21. Who said, “The District Administration is the total Management of public 
affair”? 

 A. S.S. Khera  B. Ramsay Mac Donald 
 C. Warren Hastings D. Anumantha Rao 
“khtl;l eph;thfk; vd;gJ xl;L nkhj;j nghJ tptfhu Nkyhz;ik” vd 
$wpath;? 

A. S.S. nfuh   B. uhk;Nr nkf; nlhdhy;L  
C. thud; N`];bq;];  D. mDke;j uht; 

 
22. Match the following: 

 Schedule    Subject 
a. First Schedule  1. Division of powers between union and states 
b. Eleventh Schedule 2. Languages 
c. Seventh Schedule 3. Names of states and union territories 
d. Eighth Schedule 4. Panchayats 

a b c d 
A. 3 4 1 2 
B. 1 3 4 2 
C. 2 1 3 4 
D. 3 1 4 2 
fPo;f;fz;ltw;iw nghUj;Jf. 

gl;bay;    nghUs; 
(a) Kjy; gl;bay;  1.kj;jpa muR kw;Wk; khepyq;fs; 
      ,ilNaahd mjpfhu gfph;T 
(b) gjpndhd;whk; gl;bay; 2. nkhopfs;  
(c) Vohk; gl;bay;  3. khepyq;fs; kw;Wk; a+dpad;    
     gpuNjrq;fspd; ngah; 
(d) vl;lhk; gl;bay;  4. gQ;rhaj;J  
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a b c d 
A. 3 4 1 2 
B. 1 3 4 2 
C. 2 1 3 4 
D. 3 1 4 2 
 

23. According to R.C. Majumdar‟s statement, the Revolt of 1857 failed because 
A. there was no unity of command in the armies of revolt 
B. the army of result suffered from serious financial difficult 
C. the Indian states did not support the revolt 
D. there was no cordiality between the Hindus and Muslims 
Mh;.rp.k[_k;jhhpd; $w;Wg;gb 1857 k; Mz;L Gul;rpapd; Njhy;tpf;fhd fhuzk;  
A. ,uhZt tPuh;fsplk; xw;Wik ,y;iy  
B. ,uhZt tPuh;fsplk; nghUshjhu f~;lk; ,Ue;jJ 
C. ,g;Gul;rpapy; ,e;jpa kf;fs; MjuT ,y;iy  
D. ,e;J K];yPk; xw;Wik ,y;iy 
 

24. Which of the following group constituted the State Reorganisation 
Commission? 
A. Pannikkar, Fazi Ali, Katju 
B. Fazl Ali, Pannikkar, Kunzru 
C. Dhar, Fazl Ali, Pannikkar 
D. Kunzru, Katju, Dhar 
khepyq;fs; mikg;G Mizaj;jpy; ,lk;ngw;w FO vJ?  
A. gzpf;fh;> /g[y; myp> fl;R 
B. /g[y; myp> gzpf;fh;> Fd;];U  
C. jh;> /g[y; myp> gzpf;fh;  
D. Fd;];U> fl;R> jh;  
 

25. The first language declared as the classical language in India is 
 A. Kannada  B. Telugu  C. Oriya  D. Tamil 
,e;jpahtpy; nrk;nkhopahf mwptpf;fg;gl;l Kjy; nkhop  
A. fd;dlk;  B. njYq;F   C. xhpah   D. jkpo;  
 
 

Unit – VI: Indian Economy 
 

1. Which one of the following is the source of direct tax? 
A. gift tax   B. customs duty 
C. excise duty  D. service tax 
fPNO nfhLf;fg;gl;Ls;s ,dq;fspy; vJ Neh;Kf thpir rhh;e;jJ?  
A. md;gspg;G thp   B. Rq;f thp  
C. cw;gj;jp thp   D. Nrit thp  
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2. The sum of the deficit under Revenue account and deficit under capital 
account is 
A. Budgetary deficit  B. primary deficit 
C. fiscal deficit   D. revenue deficit 
elg;Gf; fzf;F gw;whf;FiwiaAk; %yjd fzf;Fg; gw;whf;FiwiaAk; 
$l;b fpilg;gJ 
A. epjpepiy mwpf;if gw;whf;Fiw  B. Kjd;ik gw;whf;Fiw  
C. epjpg; gw;whf;Fiw     D. tUtha; gw;whf;Fiw  
 

3. The process of removal or relaxation of Governmental restrictions in all 
stages in Industry is known as 
A. Privatization    B. Liberalization 

C. Globalization    D. Disinvestment 
njhopy;Jiw eltbf;iffspy; murpd; fl;LghLfis jsh;j;Jtij my;yJ 
Kw;wpYkhf tpyf;fp nfhs;Sk; Kiwia  
A. jdpahh; kakhf;fk;    B. jhuhs kakhf;fk;  
C. cyf kakhf;fk;   D. %yjd tpyf;fy; 
 

4. Who is among the following associated with “PURA” model? 
A. Dr. M.S. Swaminathan  B. Dr. A.P.J. Abdul Kalam 
C. M.N. Roy    D. B.S. Minhas 
fPo;fz;lth;fSs; ahh; “Guh” khjphpNahL njhlh;Gilath; Mth;?  
A. lhf;lh; vk;.v];. Rthkpehjd;  B. lhf;lh; V.gp.N[. mg;Jy;fyhk; 
C. vk;.vd;. uha;     D. gp.v];. kpd;fh];  
 

5. Norman Borlaug – is associated with 
1. high yield variety seeds 2. chemical fertilizers 3. chemical pesticides 
Select the correct answer using the code given below 
A. 1 only  B. 2 and 3  C. 1 and 3  D. 2 only 
ehh;kd; Nghh;yhf; - vd;gth; njhlh;GilaJ 
1. tPhpauf tpijfs;  
2. urhaz cuq;fs;  
3. urhaz G+r;rpf;nfhy;yp kUe;Jfs;  
fPNo nfhLf;fg;gl;l;itfspy; rhpahd tpilia Njh;e;njLf;f:  
A. 1 kl;Lk;  B. 2 kw;Wk; 3 C. 1 kw;Wk; 3 D. 2 kl;Lk;  
 

 
6. With reference to the Rural development in India, consider the following 

statements 
I. Poverty alleviation and welfare of the people 
II. The process of urbanization in rural areas 
Which of the statements given above is/are correct? 
A. I only B. II only C. Both I and II D. Neither I nor II 
fpuhkGw Kd;Ndw;wKk;> ,e;jpahTk; vd;gJ> fPo;fz;l thf;fpaj;jpy; $Wf.  
I. tWik xopg;Gk;> fpuhkGw kf;fspd; ed;ikAk;  
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II. fpuhkGwq;fis efuikakhf;FjYf;F toptif nra;jYk;  
rhpahd thf;fpaj;ij Njh;e;njL. 
A. I kl;Lk; B. II kl;Lk; C. I, II ,uz;Lk; D. I, II ,uz;LNk ,y;iy  
 

7. Which of the following is/are eligible for “Kisan credit card”? 
I. All the farmers  II. Share croppers III. Tenants 
Select the correct answer using the code given below 
A. I only  B. I and II  C. II and III  D. I, II and III 
“fp]hd; fld; ml;il” fPNo nfhLf;fg;gl;Ls;s egUf;F ahUf;F 
jFjpAilaJ 
I. midj;J tptrhapfs; II. gaphpLNthh; gq;Fjhuh; III. Fj;jifjhuh;  
fPo;fz;ltw;wpy; vJ xd;W rhpahdJ  
A. I kl;Lk;  B. I kw;Wk; II C. II kw;Wk; III  D. I, II kw;Wk; III  

 
8. Consider the following statements 

According to the first stage of Demographic transition 
I. Death rates are high 
II. Low birth rate 
III. Absence of medical aid 
Select the correct answer using the code given below: 
A. I and III only   B. I and II only  
C. II and III only   D. I, II and III 
fPo;f;fz;l $w;iw Muha;f.  
kf;fs; njhif khw;wj;jpd; Kjy; epiyapd; gb  
I. mjpfkhd ,wg;G tPjk;  
II. Fiwthd gpwg;G tPjk;  
III. kUj;Jt cjtp ,y;yhik  
fPo;f;fz;ltw;Ws; rhpahd tpilia Njh;e;njLf;f  
A. I kw;Wk; II kl;Lk;   B. I kw;Wk; II kl;Lk;  
C. II kw;Wk; III kl;Lk;  D. I, II kw;Wk; III  

 
9. In which of the Industrial Policy Resolution (IPR) the establishment of 

socialistic pattern of society was adopted? 
A. Industrial Policy Resolution of 1948 
B. Industrial Policy Resolution of 1956 
C. Industrial Policy Resolution of 1985 
D. Industrial Policy Resolution of 1991 
ve;j njhopw;nfhs;if jPh;khdj;jpy; “rkjh;k khjphp rKjhaj;ij” Vw;gLj;Jjy; 
vd;gJ Vw;Wf;nfhs;sg;gl;lJ?  
A. 1948 Mk; Mz;L njhopw;nfhs;if jPh;khdk;  
B. 1956 Mk; Mz;L njhopw;nfhs;if jPh;khdk;  
C. 1985 Mk; Mz;L njhopw;nfhs;if jPh;khdk;  
D. 1991 Mk; Mz;L njhopw;nfhs;if jPh;khdk;  
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10. Inflation adversely affects 
A. Profit earners   B. Fixed income earners 
C. Speculators   D. Investor 
gztPf;fj;jhy; vjph;kiwahf ghjpf;f $bath;fs;  
A. yhgk; <l;LNthh;   B. epiyahd tUtha; <l;LNthh;  
C. Cf thzpgj;jpy; <LgLNthh;  D. KjyPl;lhsh;  
 

11. The objectives of Monetary policy is /are 
I. Price stability 
II. Economic growth 
III. Social justice 
IV. Reducing budgetary deficit 
A. I only   B. II and III only 
C. I, II and III only D. IV only 
gztpay; nfhs;ifapd; Nehf;fq;fs; vd;gJ 
I. tpiy epiyj;jd;ik  
II. nghUshjhu tsh;r;rp  
III. r%fePjp  
IV. muR tuT – nryT jpl;lj;jpd; gw;whf;Fiwia Fiwg;gJ 
A. 1 kl;Lk;     B. II kw;Wk; II kl;Lk;  
C. I, II kw;Wk; III kl;Lk;  D. IV kl;Lk;  
 

12. Consider the following statements 
50% of the India‟s poor people live in following states 
1. Uttar Pradesh, Bihar, Madhya Pradesh and Jharkhand 
2. Goa, Karnataka, Andhra Pradesh and Jharkhand 
3. Bihar, Gujarat, Himachal Pradesh and Jammu 
4. Kerala, Sikkim, Arunachal Pradesh and Bihar 
Which one of the above is/are correct? 
A. 1 only  B. 2 and 3  C. 4 only  D. 1 and 4 
fPo;fz;l thf;fpaj;ij ftdp: 
,e;jpahtpy; 50.0 rjtPj Vio kf;fs; fPo;fz;l khepyq;fspy; tho;fpwhh;fs;.  
1. cj;jpugpuNjrk;> gPfhh;> kj;jpa gpuNjrk; kw;Wk; [hh;fz;l; 
2. Nfhth> fh;ehlfk;> Me;jpu gpuNjrk; kw;Wk; [hh;fz;l;  
3. gP`hh;> F[uhj;> ,khry gpuNjrk; kw;WK; [k;K 
4. Nfush> rpf;fpk;> mUzhry gpuNjrk; kw;Wk; gP̀ hh; 
NkNy nfhLf;fg;gl;Ls;stw;wpy; vit(fs;) rhpahdJ?  
A. 1 kl;Lk;  B. 2 kw;Wk; 3 C. 4 kl;Lk; D. 1 kw;Wk; 4 

 
13. Which of the following taxes have been subsumed under GST (Goods and 

Services Tax)? 
A. Corporate tax, Customs duty, Service tax 
B. Excise duty, Entertainment tax, Sales tax 
C. Minimum alternate tax, Sales tax, State VAT 
D. Luxury tax, Capital gain tax, Cess and Surcharges 
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fPNo nfhLf;fg;gl;Ls;s thp F&g;gpy; vJ GST tuk;Gf;Fs; tUgit? 
A. epWtd thp> Rq;f thp> Nrit thp    
B. fyhy; thp> nghOJ Nghf;F thp> tpw;gid thp 
C. Fiwe;jgl;r khw;W thp> tpw;gid thp> khepy VAT 
D. Mlk;gu thp> %yjd yhgk; thp> jPh;it kw;Wk; $Ljy; thp 
 

14. Pradhan Mantri Gram Sadak Yojana (PMGSY) is primarily 
A. Rural Water Supply Programme  
B. Rural Employment Generation Programme  
C. Rural Roads Development Programme  
D. Rural Health Programme  
gpujk ke;jphp fpuhk; rjhf; jpl;lkhdJ fPo;tUtdtw;Ws; vjw;F 
Kjd;ikahdJ? 
A. Cuf FbePh; trjp jpl;lk;  B. Cuf Ntiy tha;g;Gj; jpl;lk; 
C. Cuf rhiy Nkk;ghl;Lj; jpl;lk; D. Cuf Rfhjhu jpl;lk; 
 

15. Agricultural crop insurance was introduced by Government of India in 
 A. 1986  B. 1984  C. 1985  D. 1989 
tptrha gaph; fhg;gPL Kiwia ,e;jpa murhq;fk; nfhz;L te;j Mz;L vJ? 

A. 1986  B. 1984  C. 1985  D. 1989 
 

16. Match List I with List II and select the correct answer using the codes given 
below lists: 

   List I (Event)        List II (Year) 
a. Special Economic zones policy  1. 1991 
b. New Foreign Trade policy   2. 2000 
c. Goods and services Tax act   3. 2015 
d. Narashimham Committee Report 4. 2017 
  a b c d 

A. 2 3 4 1 
B. 2 4 1 3 
C. 4 2 3 1 
D. 4 3 2 1 
 
nghUj;Jf. 
gl;bay;; I kw;Wk; II-ia nghUj;jp fPNo nfhLf;fg;gl;Ls;s rhpahd tpiliaj; 
Njh;T nra;f. 
gl;bay; I (epfo;T)    gl;bay; II (Mz;L) 

(a)  rpwg;Gg; nghUshjhu kz;lyf; nfhs;if 1. 1991 
(b)  Gjpa gd;dhl;L thzpg nfhs;if  2. 2000 
(c) nghUs; kw;Wk; gzp thpr; rl;lk;  3. 2015 
(d) eurpk;kk; fkpl;b     4. 2017 
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   a b c d 
A. 2 3 4 1 
B. 2 4 1 3 
C. 4 2 3 1 
D. 4 3 2 1 

 
17. The father of Green Revolution in India was 

 A. M.S. Swaminathan  B. Gandhi 
 C. Visweswaraiah   D. N.R. Viswanathan 
 ,e;jpahtpd; gRik Gul;rpapd; je;ij vd miof;fg;gl;lth; ahh;? 

A. M.S. Rthkpehjd;   B. fhe;jp  
C. tp];Nt];tuha;ah   D. N.R. tp];tehjd; 
 

18. When was Pradhan Mantri Awaas Yojana Gramin was established? 
 A. April 2016 B. April 2017 C. April 2018 D. April 2015 
 „gpujhd; ke;jphp Mth]; Nah[dh‟ ve;j Mz;L Jtq;fg;gl;lJ? 

A. Vg;uy; 2016 B. Vg;uy; 2017 C. Vg;uy; 2018 D. Vg;uy; 2015 
 

19. A closed economy is one which 
I. does not trade with other countries 
II. does not impose and restrictions on international trade 
III. does not have a coastal line 
IV. is not a member of the United National Organisation 
Select the correct answer using the code given below: 
A. 1 only B. I and II only    C. I,II and III only D. all the above 
fPo;fz;ltw;wpy; vJ xd;W %ba nghUshjhuk;  
I. gpw ehLfSld; thzpgk; Nkw;nfhs;shj nghUshjhuk;  
II. gd;dhl;L thzpgj;jpy; ve;j jilAk; tpjpg;gJ ,y;iy  
III. fly; topg; ghij ,y;yhjJ  
IV. If;fpa ehLfspd; mikg;gpy; cWg;gpdh; ,y;yhky; ,Ug;gJ  
fPo;f;fz;ltw;wpy; vJ xd;W rhpahdJ 
A. I kl;Lk; rhp    B. I kw;Wk; II rhp  
C. I, II kw;Wk; III rhp   D. Nkw;fz;l midj;Jk;  
 

20. Which among the followings are the major reasons for driving out sourcing? 
1. Technological innovation. 
2. Economic emergence of developing nations. 
3. The knowledge based economy. 
4. Favourable balance of payment. 
Select correct answer from the codes given below: 

 A. 1 and 2  B. 4 and 2  C. 1, 2 and 3 D. 1, 3 and 4 
fPNo Fwpg;gplg;gl;Ls;sitfspy; ntsp Mjhuq;fis ,Og;gjw;fhd Kf;fpa 
fhuzq;fs;  
1. njhopy; El;g fz;Lgpbg;Gfs;  
2. tsUk; ehLfspy; nghUshjhu Kd;Ndw;wk;  
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3. mwpT rhh;e;j nghUshjhuk;  
4. rhjf thzpgr; #o;epiy  
FwpaPLfspy; ,Ue;J rhpahd tpilia njhpT nra;f.  
A. 1 kw;Wk; 2   B. 4 kw;Wk; 2 
C. 1, 2 kw;Wk; 3   D. 1, 3 kw;Wk; 4 

 
21. Which of the following factors influence digitalisation in banking sector? 

1. Changing consumer behaviour. 
2. Financial inclusion and government initiation. 
3. Increased smart phone usage. 
Select the answers from the codes given below 
A. 1 and 2  B. 2 and 3  C. 1 and 3  D. 1, 2 and 3 
gpd;tUtd;tw;Ws; tq;fp Jiwapid kpd;dDg;gLj;Jtjw;Ff; fhuzkhd 
fhuzpfs; ahit?  
1. Efh;Nthhpd; eltbf;ifapy; khWjy;  
2. epjpapy; cs;slf;fk; kw;Wk; murpd; Kaw;rp  
3. mjpf mstpy; Rkhh;l; ifNgrp gad;gLj;Jjy;  
FwpaPLfspy; ,Ue;J rhpahd tpilia njhpT nra;f.  
A. 1 kw;Wk; 2  B. 2 kw;Wk; 3 
C. 1 kw;Wk; 3  D. 1, 2 kw;Wk; 3 
 

 

Unit – VII: Indian National Movement 
 

1. Read the following statement and find out the correct one 
1. C.R. Das was known as Deenbandhu 
2. He was the uncrowned king of Bengal 
A. 1 only  B. 2 only C. Both 1 and 2 D. Neither 1 nor 2 
fPNo nfhLf;fg;gl;ltw;iw thrpj;J> rhpahd tpilia Njh;e;njL. 
1. C.R. jh];> jPd;ge;J vd mwpag;gl;lhh;. 
2. ,th; tq;fhsj;jpd; Kb#lh kd;dh;  
A. 1 kl;Lk;  B. 2 kl;Lk; C. 1 kw;Wk; 2 D. 1 kw;Wk; 2 ,y;iy  
 

2. Which song is called “The Bible of Modern Bengalee Patriotism”? 
A. Jana Gana Mana  B. Vande Mataram 
C. Gitanjali    D. Devi Chaudhurani 
„etPd tq;fhs Njrj;jpd; iggps;‟ vd miof;fg;gLtJ?  
A. [d fd kd   B. te;Nj khjuk; 
C. fPjhQ;ryp   D. Njtp nrsJ}uzp  
 

3. Who said “I am an Indian Tomtom, waking up all the sleeping sleepers so 
that they may wake and work for their motherland …. This is my task”? 
A. Mrs. Annie Besant  B. Ravindranath Tagore 
C. Sarojini Naidu   D. None of these 
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“ehd; xU ,e;jpa lkhu Nrty; J}q;fpf; nfhz;bUg;gth;fis ehd; vOg;gpf; 
nfhz;Nl ,Ug;Ngd;. mg;NghJjhd; mth;fs; vOe;J jq;fs; jha; ehl;bw;fhf 
ghLgLthh;fs;…. ,JNt vdJ gzp” vd;W $wpath; ahh;?  
A. md;dpng]d;l; mk;ikahh;  B. utpe;juehj; jh$h; 
C. rNuh[pdp ehAL    D. Nkw;$wpa ahUkpy;iy  

 
4. 1. Ram Mohan Roy – accepted the concept of God propounded by the 

Upanishads 
2. Swami Dayananda accepted the Western ideas 
3. The social reform leaders fought for the problems of women and 
depressed classes 
4. 1918 the form for Brahminicial organization South, Division liberal 
federation was started 
A. 1, 2, 3 are correct 4 only not correct 
B. 1, 3, 4 are correct 2 only not correct 
C. 1, 2, 3, 4 are correct 
D. 2, 3, 4 are correct 1 is not correct 
1. uhk; Nkhfd; uha; cgep~j;jpd; top flTs; nfhs;ifia Vw;Wf; 

nfhz;lhh;. 
2. Rthkp jahde;j ru];tjp Nkwfj;jpa rpe;jid thjj;ij Vw;Wf;nfhz;lhh;.  
3. r%f rPh;jpUj;jthjpfs; nz; mbik kw;WK; jho;j;jg;gl;Nlhh; eyDf;F 

ghLgl;ldh; 
4. 1918 y; gpuhkzh; vjph;g;G ,af;FkhW njd;dpe;jpa tpLjiy mikg;G 

cUthf;fk; ngw;wJ 
A. 1, 2, 3 kw;Wk; rhp 4 jtW   B. 1, 2, 4 rhp, 2 jtW  
C. 1, 2, 3, 4 rhp     D. 2, 3, 4 rhp, 1 jtW  
 

5. Which of the following facts are true regarding the commercialization 
agriculture under British rule? 
1. Money lending and exploitation of Poor peasants? 
2. Scarcity of food 
3. Increase the demand of cash crops 
4. Commercial agriculture went in bankruptcy 
A. 1 is true, 2, 3, 4 false  B. 2, 3, 4 are true 1 is false 
C. all are false statements D. 1, 2, 3, 4 statements are true 
Mq;fpy Ml;rpapy; tptrhak; tzpfkak; MdNghJ Vw;gl;l tpisTfis 
gw;wpa $w;Wfspy; vJ cz;ikahdJ?  
1. tl;bf;fhuh;fs; Fbapdth;fis Ruz;Ljy;  
2. czTj;jl;Lg;ghL  
3. gzg;gaph; Njit mjpfhpg;G  
4. gzg;gaph; tzpfk; jpthyhFjy;  
A. 1 kl;Lk; rhp 2, 3, 4 my;y  B. 2, 3, 4 rhp 1 rhp my;y  
C. midj;Jk; jtwhdJ  D. midj;Jk; rhpahdJ 
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6. What was the form of Struggle that Congress adopted against the British in 
1940 
A. Non-Cooperation   B. Individual Satyagraha 

C. Mass Civil disobedience  D. Armed Struggle 
1940- y; fhq;fpu]; Mq;fpNyaUf;F vjpuhf vt;tifahd Nghuhl;lj;ij 
ifahz;lJ 
A. xj;Jioahik ,af;fk;    B. rj;jpahfpufk;  
C. nghUs; jpws; rl;lkWg;G ,af;fk; D. Nghuhl;lk;  
 

7. Consider the following events and find out the chronological sequence of 
events 
1. Chauri chaura incident  
2. Russo – Japanese war 
3. Gandhiji returned from South Africa 
A. 1, 2, 3  B. 2, 1, 3  C. 3, 2, 1  D. 2, 3, 1 
gpd;tUtdtw;Ws; fhy thpirg;gbahd epfo;Tfis Njh;e;njL. 
1. nrshp nrsuh epfo;r;rp  
2. u~;a – [g;ghdpa Nghh;  
3. fhe;jp njd;dhg;gphpf;fhtpy; ,Ue;J jpUk;Gjy;  
A. 1, 2, 3  B. 2, 1, 3  C. 3, 2, 1   D. 2, 3, 1  
 

8. In which year E.V. Ramaswamy became the Chairman of Erode 
Municipality? 
A. 1907 B. 1909 C. 1917 D. 1919 
ve;j tUlk; <.Nt. ,uhkrhkp <NuhL efuhl;rpapd; jiytuhf ,Ue;jhh;?  
A. 1907 B. 1909 C. 1917 D. 1919  

 
9. Which among the given facts became the primary reason for the leave of 

E.V. Ramaswami from Indian National Congress? 
A. Conflict with M.K. Gandhi 
B. Crisis in Seranmahadevi Charity Training Centre 
C. Congress ideology 
D. Communal disparity in Congress 
<.Nt. ,uhkrhkp ,e;jpa Njrpa fhq;fpurpypUe;J ntspNaWtjw;F fPo; 
te;Js;s fhuzq;fspy; Kjd;ikahdJ vJ? 
A. Nkh.f. fhe;jpAldhd Kuz;ghL 
B. Nrud;kfhNjtp FUFy gapw;rp ikaj;jpy; epfo;e;j rpf;fy; 
C. fhq;fpurpd; fUj;jpay; 
D. fhq;fpurpy; r%f tpj;jpahrk; 
 

10. Which strengthened the National Movement? 
A. Europeanisation  B. Marxian theory 
C. Religious faith   D. Secular ideology 
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Njrpa ,af;fj;ij tYg;ngwr; nra;jJ vJ? 
A. INuhg;gpa kakhjy;  B. khh;f;rpa nfhs;if 
C. rka ek;gpf;if   D. kjrhh;gw;w fUj;jpay; 

 
11. I. The constitution is a source of, and not an exercise of, legislative power 

II. Constitution springs from a belief in limited Government 
Which of the statements given above is/are correct? 
A. I only  B. II only C. Both I and II D. Neither I nor II 
I. murpayikg;Gr; rl;lk; vd;gJ rl;lkd;wq;fshy; cUthf;fg;gLtjy;y; 
khwhf mk;kd;wq;fSf;fhd Mjhu  %yk; MFk;? 
II. tud;Kiwg;gLj;jg;gl;l murhq;fk; vd;gjd; kPjhd ek;gpf;if 
murpayikg;Gr; rl;lj;jpypUe;Nj Kfpo;e;njOfpwJ. 
Nkw;fz;l $w;Wfspy; vJ rhpahdJ? 
A. I kl;LNk    B. II kl;LNk 
C. I kw;Wk; II ,uz;Lk; rhpNa D. I kw;Wk; II ,uz;LNk rhpay;y 
 

12. Which committee was appointed in 1986 to deal with „Revitalisation of 
Panchayat Raj institutions for democracy and development? 
A. Ashok Mehta Committee  B. G.V.K. Rao Committee 
C. L.M. Singhvi Committee  D. Santhanam Committee 
1986-k; Mz;by;> “kf;fshl;rp kw;Wk; Nkk;ghl;bw;fhf gQ;rhaj;J 
epWtdq;fis Gj;Japh;gpf;f” mikf;fg;gl;l FO vJ? 
A. mN~hf; Nkj;jh FO  B. [p.tp.Nf. uht; FO 
C. vy;.vk;. rpq;tp FO   D. re;jhdk; FO 
 

13. Match the following 
a. Kol uprising  1. Bhaalpur 
b. Santhal uprising 2. Orissa 
c. Khonds uprising 3. Assam 
d. Ahoms uprising 4. Chotanagpur 
 a b c d 
A. 4 1 2 3 
B. 3 2 1 4 

 C. 1 3 2 4 
 D.  2 3 4 1 

fPo;f;fz;ltw;iwg; nghUj;Jf. 
(a) Nfhy; vOr;rp   1. ghy;g;g+h; 
(b) re;jhy; vOr;rp   2. xhp];]h 
(c) Nfhz;Lfs; vOr;rp  3. m];]hk;  
(d) mN`hk;fs; vOr;rp  4. Nrhl;lh ehf;g+h;  
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a b c d 
A. 4 1 2 3 
B. 3 2 1 4 

 C. 1 3 2 4 
 D.  2 3 4 1 
 
14. Which decision of Gandhiji was opposed by Ambedkar? 

A. Partition India  B. Calling lower castes 
C. Satyagraha Movement D. Non-co-operation Movement 
ve;j fUj;J Kbtpy; fhe;jpf;Fk;> mk;Ngj;fhUf;Fk; ,ilapy; vjph;g;G 
Vw;gl;lJ? 
A. ,e;jpag; gphptpid   B. jho;j;jg;gl;Nlhh; 
C. rj;jpahfpuf ,af;fk;   D. xj;Jioahik ,af;fk; 
 

15. Arrange the following in chronological order. 
 1. Communal award 

 2. Nehru Report 
 3. Gandhi Irwin Pact 

4. Visit of Simon commission 
a. 3 2 1 4   b. 4 2 3 1 

 c. 2 4 3 1   d. 1 4 2 3 
gpd;tUtdtw;iw fhythpirg;gb mLf;Ff. 
1. tFg;Gf; nfhil 
2. NeU mwpf;if 
3. fhe;jp ,h;tpd; xg;ge;jk; 
4. irkd; FO tUif 

a. 3 2 1 4   b. 4 2 3 1 

 c. 2 4 3 1   d. 1 4 2 3 
 

16. Match the following connected with the year of Acts 
a. Introduction of communal representation 1. 1935 
b. Right of discussing Budget    2. 1919 
c. Separation of Burma     3. 1909 
d. August Declaration     4. 1892 

a b c d 
 A. 3 1 4 2 
 B. 3 4 1 2 
 C. 2 1 4 3 
 D. 4 2 3 1 

gpd;tUk; Mz;L rl;lq;fisAk;> njhlh;Gs;s epfo;TfisAk; ,izf;f. 
(a) tFg;Gthp gpujpepj;Jtk; mwpKfk;   1. 1935 
(b) epjpepiy mwpf;ifia tpthjpf;f chpik  2. 1919 
(c) gh;kh gphpf;fg;gLjy;     3. 1909 
(d) Mf];L mwpf;if      4. 1892 
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a b c d 
 A. 3 1 4 2 
 B. 3 4 1 2 
 C. 2 1 4 3 
 D. 4 2 3 1 

 
17. Northcote-Trevelyan Commission of 1853 linked with 

 A. Education B. Agriculture  C. ICS D. Industry 
 ehh;j;Nfhl; - buty;ad; fkp~Dld; (1853) njhlh;GilaJ. 
 A. fy;tp  B. tptrhak;  C. ICS  D. njhopy; 
 

18. In which field, the colonial regime followed Downward Filtration theory? 
 A. Educational policy  B. Industrial policy 
 C. Social policy   D. Commercial policy 
ve;jj; Jiwapy; fhydp muR fPo; Nehf;fp tbfl;Lk; Nfhl;ghl;il gpd;gw;wpaJ? 

A. fy;tp nfhs;if  B. njhopy; Jiw nfhs;if 
C. rKjha nfhs;if  D. nghUshjhu nfhs;if 

 
19. Which of the following refers “Unity of Spirit” of Rabindranath Tagore? 

 A. Unity of India   B. Unity of diversity 
 C. Consolidation of India D. India‟s complexities 
,utPe;jpuehj; jh$hpd; “Mj;khh;j;jkhd xw;Wik” vd;w nrhw;nwhlh; fPo; 
Fwpg;gpl;ltw;Ws; vjid Rl;Lfpd;wJ? 
A. ,e;jpa xw;Wik   B. Ntw;Wikapy; xw;Wik 

 C. ,e;jpa xUq;fpizg;G  D. ,e;jpahtpd; gd;ikj;jd;ik 
 

20. The mandate of the official language commission under Art 344 is/are 
1. The progressive use of Hindi language for official purpose of the union 
2. Restriction on the use of the English language for the official purpose of 

the union. 
Choose the correct statement(s) : 
A. 1 only     B. 2 only  C. both 1 and 2  D. neither 1 nor 2 
murpayikg;Gr; rl;l ruj;J 344 fPo; cUthf;fg;gl;l Ml;rp nkhop 
Mizaj;jpd; gzp fPo;f;fz;ltw;Ws; vJ?  
1. ,e;jpa xd;wpaj;jpd; Ml;rp nkhopahf `pe;jpia gbg;gbahf 

mKy;gLj;JtJ  
2. ,e;jpa xd;wpaj;jpd; Ml;rp nkhopahf Mq;fpyj;ijg; gad;gLj;Jtijf; 

Fiwj;Jf; nfhs;tJ  
rhpahd thf;fpaj;ij Njh;e;njL 
A. 1 kl;Lk;    B. 2 kl;Lk;   
C. 1, 2 Mfpa ,uz;Lk;   D. 1, 2 ,it VJTkpy;iy  
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21. The words “Socialist” and “Secular” were added to the Preamble of Indian 
constitution by  
A. The Constitution (First Amendment) Act 1950 
B. The Constitution (Sixteenth Amendment) Act 1963 
C. The Constitution (Forty-First Amendment) Act 1976 
D. The Constitution (Forty-second Amendment) Act 1976 
ve;j murpayikg;Gj; jpUj;jr; rl;lj;jpd; fPo; ,e;jpa murpayikg;Gr; 
rhrdj;jpy; “Nrhryprk;” kw;Wk; “kjr;rhh;gw;w” vd;w thh;j;ijfs; 
Nrh;f;fg;gl;ld? 
A. KjyhtJ rl;lj;jpUj;jk; 1950   
B. gjpdhwhtJ rl;lj;jpUj;jk; 1963 
C. ehw;gj;jp xd;whtJ rl;lj;jpUj;jk; 1976 
D. ehw;gj;jp ,uz;lhtJ rl;lj;jpUj;jk; 1976 
 

GK 
 

1. Consider the following statement: 
1. The national cadet corps was established in 1948 
2. The Sainik schools were established as a joint venture of the Central and 

State Government 
Which of the statements is/are correct? 
A. 1 only    B. 2 only 
C. Both 1 and 2 correct  D. Both 1 and 2 wrong 
fPo;f;fz;l $w;Wf;fis fUj;jpy; nfhs;.  
1. 1948 Mk; Mz;L Njrpa khzth; gil mikf;fg;gl;lJ 
2. irdpf; gs;spfis cUthf;fp kj;jpa kw;Wk; khepy muRfs; ,ize;J 

elj;JfpwJ  
Nkw;$wpa nrhw;nwhlhpy; vJ rhpahdJ?  
A. 1 kl;Lk;   B. 2 kl;Lk;   
C. 1 kw;Wk; 2 rhp  D. 1 kw;Wk; 2 jtW  
 

2. The headquarters of the Interpol is situated in 
 A. Vienna  B. Lyon    C. Washington  D. Geneva 
rh;tNjr fhty; Jiwafj;jpd;> (,d;lh;Nghy;) jiyikafk; mike;Js;s ,lk; 
A. tpad;dh  B. ypNahd;  C. th~pq;ld; D. n[dpth  

 
3. The book „My Presidential Years‟ is written by 

 A. K.R. Narayanan  B. Giani Zail Singh 
 C. S.D. Sharma   D. R. Venkataraman 
„ik gpu]pnld;l;~pay; ,ah;];‟ vd;w E}ypid vOjpath;  
A. Nf.Mh;. ehuhazd;    B. fpahdp n[apy; rpq;  
C. v];.b. ~h;kh    D. Mh;. ntq;fl;uhkd;  
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4. In which year “National Award to Teachers” was instituted? 
 A. 1960  B. 1958  C. 1959  D. 1962 
“Mrphpah;fSf;fhd Njrpa tpUJ” ve;j Mz;by; Muk;gpf;fg;gl;lJ?  
A. 1960  B. 1958  C. 1959  D. 1962 

 

UNIT – X: Mental Ability  
Stepwise Solution 

 
1. In a right triangular ground, the sides adjacent to the right angle are 50 m 

and 80 m. Find the cost of cementing the ground at Rs.5/sq.m 
A. Rs.20,000 B. Rs.15,000 C. Rs.10,000 D. Rs.12,000 
xU tpisahl;Lj;jply; nrq;Nfhz Kf;Nfhzk; tbtpy; cs;sJ. 
nrq;Nfhzj;ijj; jhq;Fk; gf;fq;fs; 50 kP> 80kP jplypy; rpnkz;l; G+r rJu 
kPl;lUf;F & 5 tpjk; MFk; nkhj;j nryitf; fhz;.  
A. ì 20,000  B. ì 15,000  C. ì  10,000  D. ì  12,500 
 

2. The average of 5 numbers is 180. If one of the numbers is removed then the 
average becomes 155. Find the removed number? 
A. 240  B. 280  C. 320  D. 360 
5 vz;fspy; ruhrhp 180 mtw;wpy; xU vz;iz ePf;fpdhy; ruhrhp 155 vd 
khWfpwJ vdpy; ePf;fg;gl;l vz;izf; fhz;f.  
A. 240  B. 280  C. 320  D. 360 
 

3. If LCM of “a” and “b” is a and LCM of “b” and “c” is b, then what is the 
LCM of “c” and “a” 
A. a   B. b  C. c  D. abc 
a kw;Wk; b d; kP.ngh. klq;F a vdTk; b kw;Wk; c d; kP.ngh. klq;F b 
vdTk; ,Ue;jhy; c kw;Wk; ad; kP.ngh.k vd;d?  
A. a   B. b  C. c  D. abc  
 

4. Which one is correct? 

A. 
3 13 15 1 1

5 40 80 20 2

  
       B. 

3 1 13 15 1

5 20 40 80 2

  
      

C. 
15 13 1 3 1

80 40 20 5 2

  
       D. 

1 3 1 13 15

2 5 20 40 80

   
     

fPo;fz;ltw;wpy; vJ rhpahdJ?  

A. 
3 13 15 1 1

5 40 80 20 2

  
       B. 

3 1 13 15 1

5 20 40 80 2

  
      

C. 
15 13 1 3 1

80 40 20 5 2

  
       D. 

1 3 1 13 15

2 5 20 40 80

   
     

 
5. Calculate the compound interest on Rs.9,000 in 2 years when the rate of 

interest for successive years are 10% and 12% respectively 
A. Rs.1,188  B. 2,088  C. 4,396  D. 2,596 
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xU njhiff;F mLj;jLj;j Mz;LfSf;F KiwNa 10% kw;Wk; 12% tl;b 
tPjj;jpy; 9,000 f;F 2 Mz;LfSf;F njhlh; tl;b vt;tsT?  
A. ì  1,188  B. ì  2,088  C. ì  4,396  D. ì  2,596 
 

6. A certain sum of money in simple interest scheme amounts to Rs.8,880 in 6 
years and Rs.7,920 in 4 years respectively. Find the principal and rate 
percent 
A. Principal = 6,000, rate = 80% B. Principal = 6,600, rate = 8% 

C. Principal = 6,000, rate = 7% D. Principal = 6,600, rate = 7% 
xU Fwpg;gpl;l mryhdJ jdp tl;b tPjj;jpy; 6 Mz;Lfspy; 8,880 MfTk; 4 
Mz;Lfspy; 7,920 MfTk; khWfpwJ vdpy; mry; kw;Wk; tl;b tPjj;ijf; 
fhz;f.  
A. mry; = 6,000 tl;b tPjk; = 8% 
B. mry; = 6,000 tl;b tPjk; = 8% 
C. mry; = 6,000 tl;b tPjk; = 7% 
D. mry; = 6,000 tl;b tPjk; = 7% 
 

7. A fair die is rolled. Find the probability of getting a prime factor of 6 

A.  
2

3
  B. 

1

3
  C. 

5

6
  D. 

1

2
 

xU rPuhd gfil xU Kiw cUl;lg;gLfpwJ. mjpy; 6d; gfh fhuzpfs; 
fpilf;f epfo;jfT ahJ?  

A.  
2

3
  B. 

1

3
  C. 

5

6
  D. 

1

2  
 

8. Find the median of the data 
12, 14, 25, 23, 18, 17, 24, 20 
A. 23  B. 18  C. 17  D. 19 

12, 14, 25, 23, 18, 17, 24, 20 vd;w tptuq;fspd; ,ilepiyia fhz;f.  
A. 23  B. 18  C. 17  D. 19 
 

9. In a two digit number, the digit in the unit place is twice of the digit in the 
tenth place. If the digits are reversed, the new number is 27 more than the 
given number. find the number 
A. 63  B. 36  C. 93  D. 39 
Xh; <hpyf;f vz;zpy;> xd;whk; ,l ,yf;f vz;> gj;jhk; ,l ,yf;f 
vz;izg;Nghy; ,U klq;fhf cs;sJ. ,yf;fq;fs; ,lk; khwpdhy; 
fpilf;Fk; Gjpa vz; nfhLf;fg;gl;l vz;iztpl 27 mjpfk; vdpy; 
nfhLf;fg;gl;l <hpyf;f vz;izf; fz;Lgpbf;f.  
A. 63  B. 36  C. 93  D. 39 
 

10. The population of a village is 32,000. 40% of them are men. 25% of them are 
women and the rest are children. Find the number of men and children 
A. 12200 men, 11800 children B. 12800 men, 11200 children 
C. 12220 men, 1220 children  D. 12200 men, 11200 children 
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xU fpuhkj;jpd; kf;fs; njhif 32>000 cs;sdh;. mth;fspy; 40% Mz;fs;> 
25% ngz;fs;> kPjk; cs;Nshh; Foe;ijfs;. Mz;fs; kw;Wk; Foe;ijfspd; 
vz;zpf;ifiaf; fhz;f.  
A. 12200 Mz;fs;> 11800 Foe;ijfs;  
B. 12800 Mz;fs;> 11200 Foe;ijfs;  
C. 12220 Mz;fs;> 12200 Foe;ijfs;  
D. 12200 Mz;fs;> 11200 Foe;ijfs;  
 

11. Using clay, a student made a right circular cone of height 48 cm and base 
radius 12 cm. another student reshapes it in the form of sphere. Find the 
radius of the sphere. 
A. 12 cm  B. 15 cm  C. 9 cm  D. 14 cm 
fspkz;izg; gad;gLj;jp xU khztd; 48 nr.kP cauKk; 12 nr.kP MuKk; 
nfhz;l Neh; tl;l jpz;kf; $k;igr; nra;jhh;. mf;$k;ig kw;nwhU khzth; 
xU jpz;kf; Nfhskhf khw;wpdhh;. mt;thW khw;wg;gl;l Gjpa Nfhsj;jpd; 
Muj;ijf; fhz;f.  
A. 12cm  B. 15 cm  C. 9 Cm  D. 14 Cm 
 

12. The radius of a spherical balloon increases from 3 cm to 9 cm as air is being 
pumped into it. Find the ratio of volumes of the balloon in the two cases. 
A. 1 : 3  B. 1 : 9  C. 1 : 27  D. 1 : 8 
3 nr.kP Muk; nfhz;l Nfhs tbt gY}dpy; fhw;W nrYj;jg;gLk; NghJ 
mjd; Muk; 9 nr.kP Mf> mjpfhpj;jhy;> mt;tpU epiyfspy; gY}dpd; fd 
msTfspd; tpfpjj;ijf; fhz;f.  
A. 1 : 3  B. 1 : 9  C. 1 : 27  D. 1 : 8  
 

13. If the circle with diameter 4 cm is inside of the circle with radius 10 cm. 
Then the Maximum possible distance between the centres is 
A. 6   B. 7   C. 8  d. 9 
4 nr.kP tpl;lj;ij nfhz;l tl;l 10 nr.kP MuKila tl;lj;jpDs; cs;s 
NghJ ,U ikaq;fSf;F ,ilNa ,Uf;f ,aYk; mjpfgl;r J}uk; vd;d?  
A. 6   B. 7   C. 8  D. 9 
 

14. A person crosses 600 m long street in 5 minute. What is his speed in km per 
hour 
A. 3.6  B. 7.2  C. 8.4  D. 10 
xU egh; 600 kPl;lh; ePsKs;s xU njUit 5 epkplq;fspy; flf;fpwhh; vdpy; 
mthpd; Ntfj;ij fp.kP / kzpapy; $W.  
A. 3.6  B. 7.2  C. 8.4  D. 10 
 

15. A man travelled 
2

11
 of his journey by coach, 

17

22
 by rail and walked the 

remaining 1 km. How far did he go? 
A. 22 km  B. 20 km  C. 33 km  D. 27 km 
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xUth; jdJ gaz J}uj;jpy; gq;if Nfhr;R tz;bapYk; gq;if uapy; 
tz;bapYk; kPjKs;s 1 fpNyhkPl;liu ele;Jk; flf;fpwhh; vdpy; gaz J}uk; 
vd;d?  
A. 22 fp.kP  B. 20 fp.kP  C. 33 fp.kP  D. 27 fp.kP  
 

16. A ramp for unloading a moving truck has an angle of elevation of 30°. If the 
top of the ramp is 0.9 m above the ground level then find the length of the 
ramp 
A. 2 m  B. 1.5 m  C. 1.8 m  D. 1.6 m 
xU Rik Ch;jpapUe;J Rikia ,wf;f VJthf 30° Vw;wf; Nfhzj;jpy; xU 
rha;Tj; jsk; cs;sJ. rha;T jsj;jpd; cr;rp jiuapypUe;J 0.9 kP 
cauj;jpy; cs;sJ vdpy;> rha;Tj;jsj;jpd; ePsk; ahJ?  
A. 2 kP  B. 1.5 kP  C. 1.8 kP  D. 1.6 kP  
 

17. Simplify: 
2 2

2

25 ( 5)

3 9

x x

x x

 


 
 

A. 
( 5)( 3)

( 3)

x x

x

 


  B. 

( 5)( 3)

( 5)

x x

x

 


 

C. 
( 5)( 3)

( 3)

x x

x

 


  D. 

( 5)( 3)

( 5)

x x

x

 


 

RUf;Ff. 
2 2

2

25 ( 5)

3 9

x x

x x

 


 
 

A. 
( 5)( 3)

( 3)

x x

x

 


  B. 

( 5)( 3)

( 5)

x x

x

 


 

C. 
( 5)( 3)

( 3)

x x

x

 


  D. 

( 5)( 3)

( 5)

x x

x

 


 

 

18. Simplify : 
2 1 2 5

7 4 3 6

  
    

  
  

A. 
168

125
 B. 

125

160
 C. 

125

168
 D. 

160

125
 

RUf;Ff: 
2 1 2 5

7 4 3 6

  
    

  
  

A. 
168

125
 B. 

125

160
 C. 

125

168
 D. 

160

125
 

 
19. Find the greatest number of four digits exactly divisible by 15, 21 and 27 

A. 9999 B. 9450 C. 9845 D. 8505 
15> 21 kw;Wk; 27 Mfpa %d;W vz;fshy; kPjpapd;wp tFgLk; kpfg;nghpa 
ehd;F ,yf;f ,ay; vz; vJ?  
A. 9999 B. 9450 C. 9845 D. 8505 
 

20. The GCD and LCM of two polynomials are x + 1 and x4 – 1 respectively. If 
one of the polynomials is x2 + 1, find other one. 
A. x3 – 1  B. (x + 1)(x2-1) C. x2 + x – 1  D. x2 – x + 1 
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,U gy;YWg;Gf; Nfhitfspd; kP.ngh.t. kw;Wk; kP.ngh.k KiwNa x + 1 
kw;Wk; x4 – 1, NkYk; xU gy;YWg;Gf;Nfhit x2 + 1 vdpy;> kw;nwhd;iw 
fhz;f.  
A. x3 – 1  B. (x+1) (x2-1) C. x2+x-1  D. x2 – x + 1 
 

21. Find the Highest common Factor of 2 3 3 2 2 2 4 34 ,8 ,16p q r p q r p q r  

A. 2 4 34p q r   B. 2 24 p q r   C. 2 216 p q r   D. 2 4 316p q r  

kPg;ngU nghJtFj;jp fhz;f. 4 p2p3r, 9p3p2r2, 16p2q4r3 
A. 4p2q4r3  B. 4p2q2r  C. 16p2q2r  D. 16p2q4r3 
 

22. What is the half of the area of the triangle whose vertices are (1,1) (3,1), (1,3)? 
A. 1   B. 2  C. 4  D. 5 
xU Kf;Nfhzj;jpd; Kidfs; (1,1), (3,1), (1,3) vdpy; mjd; gug;gstpy; ghjp 
fhz;f.  
A. 1   B. 2  C. 4   D. 5 
 

23. A silver wire when bent in the form of a square encloses an area of 484 sqm. 
If the same wire is bent in the form of a circle, then find the diameter of the 

circle (use 
22

7
  ) 

A. 14m  B. 28 m  C. 24 m  D. 7 m 
xU nts;spf; fk;gp tisf;fg;gl;L rJukhf khw;Wk; NghJ. mjdhy; 
milgLk; gFjpapd; gug;G 484 r.kP mNj nts;spf; fk;gpia tl;lkhf 
tisf;fg;gLfpwJ vdpy; tl;lj;jpd; tpl;lk; vd;d? ( vdf;nfhs;f)  
A. 14 kP  B. 28 kP  C. 24 kP  D. 7 kP  
 

24. In how much time will a sum of Rs.1600 amount to Rs.1852.20 at 5% per 
annum compound interest 
A. 2 years  B. 3 years  C. 4 years  D. 5 years 
ì 1600 MdJ 5% Mz;L $l;L tl;b tPjk; nfhz;L vj;jid Mz;Lfspy; ì 
1852.20 MFk;?  
A. 2 Mz;Lfs;    B. 3 Mz;Lfs;  
C. 4 Mz;Lfs;    D. 5 Mz;Lfs;  
 

25. The standard deviation of 10 values is 3. If each value in increase by 4. Find 
the variance of the new set of value 

A. 30  B. 12  C. 9  D. 3  
10 kjpg;Gfspd; jpl;l tpyf;fk; 3. xt;nthU kjpg;GlDk; 4-If; $l;l 
fpilf;Fk; Gjpa jpl;l tpyf;fj;jpd; tpyf;f th;f;f ruhrhp ahJ? 

A. 30  B. 12  C. 9  D. 3  
 

26. Find the next term of this sequence 11, 13, 17, 19, 23 __________ 
A. 25  B. 27  C. 29  D. 31 
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11> 13> 17> 19> 23> _____________ vd;w njhlh; thpirapy; mLj;J tUk; 
cWg;G vJ? 
A. 25  B. 27  C. 29  D. 31 
 

27. Find the mean of 2, 4, 6, 8, 10, 12, 14, 16 
A. 10  B. 9  C. 12  D. 14 
$l;Lr; ruhrhp fhzTk;. 2> 4> 6> 8> 10> 12> 14> 16 
A. 10  B. 9  C. 12  D. 14 
 

28. The exterior angles of a pentagon are in the ratio 6 : 3 : 4 : 3 : 2. Find all its 
interior angles. 
A. 60°, 120°, 80°, 160°, 120°  B. 80°, 110°, 150°, 120°, 80° 
C. 100°, 170°, 160°, 40°, 70°  D. 60°, 120°, 100°, 120°, 140° 
xU Iq;Nfhzj;jpd; ntspf;Nfhzq;fs; 6 : 3 : 4 : 3 : 2 vd;w tpfpjj;jpy; 
cs;sd vdpy; mjd; cl;Nfhzq;fspd; msTfisf; fhz;f. 
A. 60°, 120°, 80°, 160°, 120°  B. 80°, 110°, 150°, 120°, 80° 
C. 100°, 170°, 160°, 40°, 70°  D. 60°, 120°, 100°, 120°, 140° 
 

29. Which one of the following cannot be the sides of a triangle? 
A. 4, 5, 6  B. 3, 4, 5  c. 2, 3, 4  D. 1, 2, 3 
gpd;tUtdtw;Ws; vit Kf;Nfhzj;jpd; gf;fq;fshf ,Uf;f KbahJ? 
A. 4> 5> 6  B. 3> 4> 4  C. 2> 3> 4  D. 1> 2> 3 
 

30. Without using logarithm table find approximate value for 10log 2  

A. 0.2401  B. 0.3  C. 0.2802  D. 1.414 
klf;if ml;ltiziag; gad;gLj;jhky; -d; Njhuha kjpg;G fhz;f. 
A. 0.2401  B. 0.3   C. 0.3802  D. 1.414 
 

31. Pocket money received by 7 students is given below. 
 ` 42, ` 22, ` 40, ` 26, ` 23, ` 28, ` 43 
 Find the median. 
 A. ` 26   B. ` 23  C. ` 28  D. ` 22 
VO khzth;fs; jpdr; nrytpw;fhf thq;fpa gzk; fPNo nfhLf;fg;gl;Ls;sJ.  

 ` 42, ` 22, ` 40, ` 26, ` 23, ` 28, ` 43 
,tw;wpd; ,ilepiyasitf; fhz;f. 

 A. ` 26   B. ` 23  C. ` 28  D. ` 22 
 

32. The Range of the first 10 prime numbers is  
 A. 28   B. 26   C. 29   D. 27  
 Kjy; 10 gfh vz;fspd; tPr;R. 

A. 28   B. 26   C. 29   D. 27 
 

33. The students of a class donated ` 4624 for Chief Minister‟s State Relief Fund.  
Each student donated as many rupees as the number of students in the class.  
Find the number of students in the class. 
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 A. 64   B. 68   C. 62   D. 78 
xU tFg;gpy; cs;s khzth;fs; &. 4624-ia Kjyikr;rhpd; khepy epthuz 
epjpahf nrYj;jpdh;. xt;nthU khztUk; jdJ gq;fhf jdJ tFg;gpy; 
cs;s khzth;fspd; vz;zpf;iff;F rkkhd njhifia nfhLj;jdh; vdpy; 
tFg;gpy; cs;s khzth;fs; vj;jid Ngh;? 
A. 64   B. 68   C. 62   D. 78 

 
34. Simplify the following: 

 
3 8

2 2

x

x x


 
 

 A. x2 – 2x + 4   B. x2 + 2x + 4 

 C. x2 – 2x – 4    D. x2 + 2x – 4 
 RUf;Ff. 

 

3 8

2 2

x

x x


 
 

 A. x2 – 2x + 4   B. x2 + 2x + 4 
 C. x2 – 2x – 4    D. x2 + 2x – 4 
 

35. Simplify 
2

1 1

1 1 1

m

m m m
 

  
 

 A. m2   B. 
2

2

1m

m


  C. 

2

1

m
   D. 

2

2 1

m

m 
 

 RUf;Ff. 

 
2

1 1

1 1 1

m

m m m
 

  
 

 A. m2   B. 
2

2

1m

m


  C. 

2

1

m
   D. 

2

2 1

m

m 
 

  
36. If 3a + 4b = 22, 8a – 5b = -4, then the value of (a+b)2 = ? 

 A. 36   B. 72   C. 25   D. 49 
 3a + 4b = 22, 8a – 5b = -4 vdpy; (a+b)2  d; kjpg;G ahJ? 
 A. 36   B. 72   C. 25   D. 49 
 

37. If 123 represents “GOD” 456 represents “CAT”, Then “DOG EAT EGG” may 
be represented by 

 A. 321  456  411 B. 321  756  811 C. 321  856  911 D. 321  756  711 
123> vd;gJ “GOD” vd;gijAk; 456 vd;gJ “CAT” vd;gijAk; Fwpj;jhy; 
“DOG EAT EGG” vd;gJ vjdhy; Fwpf;fg;glyhk;? 
A. 321 456 411 B. 321 756 811 C. 321 856 911 D. 321 756 711 

 
38. Find the number of 3 digit natural numbers which are divisible by 6 

 A. 151  B. 150 C. 152 D. 14 
 6-My; tFglf; $ba 3 ,yf;f ,ay; vz;fspd; vz;zpf;ifia fhz;f. 
 A. 151  B. 150  C. 152  D. 149 
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39. What is the probability that a leap year selected at random will contain 53 
Sundays? 

 A. 
2

7
   B. 

3

7
   C. 

4

7
   D. 

5

7
 

rk tha;g;G Kiwapy; Njh;e;njLf;fg;gLk; yPg; tUlk; 53 Qhapw;Wf; fpoikfis 
nfhz;L ,Uf;f epfo;jfT ahJ? 

 A. 
2

7
   B. 

3

7
   C. 

4

7
   D. 

5

7
 

 
40. Shyam‟s monthly income is Rs. 12,000.  He saves Rs. 1200.  Find the percent 

of his savings and his expenditure. 
 A. 10%, 80%  B. 10%, 90% C. 80%, 10% D. 90%, 10% 
~pahkpd; khj tUkhdk; &. 12>000. mth; Nrkpf;Fk; njhif &. 1>200. mthpd; 
Nrkpg;G> nryT Mfpatw;wpd; rjtPjj;ijf; fhz;f. 

A. 10%, 80% B. 10%, 90% C. 80%, 10% D. 90%, 10% 
 

41. Due to increase of 30% in the price of a colour TV the sale is reduced by 40%. 
What will be the percentage change in income? 

 A. 10% increase B. 10% decrease C. 35% decrease D. 22% decrease 
xU tz;z njhiyf;fhl;rp ngl;bapd; tpiyapy;  
30% mjpfhpj;jjhy; 40% tpw;gid Fiwe;jJ vdpy; tUthapy; Vw;gLk; 
khw;wj;ij rjtPjj;jpy; $W. 
A. 10% mjpfhpg;G  B. 10% FiwT C. 35% FiwT D.22% FiwT 

 
42. Find the least number which when divided by 24, 32 and 36 leaves the 

remainders 19, 27 and 31 respectively. 
 A. 280   B. 290  C. 283  D. 300 
xU vz;iz 24> 32 kw;Wk; 36My; tFf;Fk; NghJ KiwNa 19> 27 kw;Wk; 31 
vd;gd kPjpahf fpilj;jhy; me;j vz;iz fhz;. 

A. 280  B. 290   C. 283   D. 300 
 

43. The cost of levelling and turfing a square lawn at Rs. 2.50 per m2 is Rs. 
13322.50.  Find the cost of fencing if at Rs. 5 per metre. 

 A. ` 1500  B. ` 1380  C. ` 1225  D. ` 1460 
xU rJu tbt taiy kz; mbj;J rkg;gLj;j rJu kPl;lUf;F &. 2.50 tPjk; 
&. 13322.50 nrythfpwJ. vdpy; me;j taypw;F> Ntyp mikf;f kPl;lUf;F &. 
5 tPjk; vt;tsT nryT MFk;? 

A. 1500  B. 1380  C. 1225  D. 1460 
 

44. The diameter of a semicircular grass plot is 70 m.  Find the cost of fencing the 
plot at ` 12 per metre. 

 A. ` 7700  B. ` 840  C. ` 2160  D. ` 4320 
miu tl;l tbtpyhd Gy;ntsp xd;wpd; tpl;lk; 70 m. mjw;Fr; Rw;W Ntyp 
mikf;f xU kPl;lUf;F &. 12 tPjk; vd;d nrythFk;? 

A. &. 7700  B. &. 840  C. &. 2160  D. &. 4320 
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45. A circus tent is to be erected in the form of a cone surmounted on a cylinder. 
The total height of the tent is 49 m diameter of the base is 42 m and height of 
the cylinder is 21 m.  Find the cost of canvas needed to make the tent, if the 
cost of convas is ` 12.50/m2 

 A. ` 63552  B. ` 65352  C. ` 63525  D. ` 65532 
xU rh;f;f]; $lhukhdJ cUisapd; kPJ $k;G ,ize;j tbtpy; 
mike;Js;sJ. $lhuj;jpd; nkhj;j cauk; 49 kP mjd; mbg;gf;fj;jpd; tpl;lk; 
42 kP cUisg; ghfj;jpd; cauk; 21 kP NkYk; 1 r.kP. fpj;jhd; Jzpapd; 
tpiy &. 12.50 vdpy;> $lhuk; mikf;fj; Njitahd fpj;jhd; Jzpapd; 
tpiyiaf; fhz;f. 

A. &. 63552  B. &. 65352  C. &. 63525  D. &. 65532 
 

46. The average height of 10 students in a class was calculated as 150 cm. On 
verification it was found that one reading was wrongly recorded as 130 cm 
instead of 140 cm.  Find the correct mean height. 

 A. 150 cm  B. 152 cm  C. 153 cm  D. 151 cm 
xU tFg;gpy; cs;s 10 khzth;fspd; ruhrhp cauk; 150 nr.kP vdf; 
fzf;fplg;gl;lJ. rhpghh;f;Fk; NghJ 140 nr.kP vd;gij 130 nr.kP vd jtwhf 
vLj;Jf; nfhs;sg;gl;ljhf njhpate;jJ. rhpahd ruhrhp cauk; fhz;f.  
A. 150 nr.kP  B. 152 nr.kP C. 153 nr.kP D. 151 nr.kP  

 
47. What is Mean of all two digit Numbers? 

 A. 54.5   B. 49.5  C. 45.5  D. 44.5 
midj;J <hpyf;f vz;fspd; ruhrhp vd;d?  
A. 54.5   B. 49.5  C. 45.5   D. 44.5  

 
48. If ax2 – 28x + 49 = 0 has equal roots.  Then the value of a is 

 A. 1   B. 2   C. 3   D. 4 
ax2 – 28x + 49 = 0 vd;w rkd;ghl;bd; %yq;fs; rkk; vdpy; α d; kjpg;G  
A. 1    B. 2   C. 3   D. 4  

 
49. I have a box which has 3 green, 9 blue, 4 yellow, 8 orange coloured cubes in 

it. 
a. What is the ratio of orange to yellow cubes? 
b. What is the ratio of green to blue cubes? 
c. How many different ratios can be formed, when you compare each colour 

to any one of the other colours? 
(a)       (b)         (c) 

A.   3:1 1:2 10 ratios 
B.   1:3 2:1 4 ratios 
C.   1:2 3:1 12 ratios 
D.   2:1 1:3 12 ratios 
vd;dplKs;s xU ngl;bapy; 3 gr;ir> 9 ePyk;> 4 kQ;rs;> 8 MuQ;R vd 24 
tz;zf; fdr; rJuq;fs; cs;sd. vdpy;  
a. MuQ;R kw;Wk; kQ;rs; fdr;ruq;fspd; tpfpjk; vd;d?  
b. gr;ir kw;Wk; ePyk; fdr;rJuq;fspd; tpfpjk; vd;d?  
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c. xU tz;zj;ij kw;w tz;zq;fNshL xg;gpl;L vj;jid tpfpjq;fs; 
fhzyhk;?  

(a)       (b)         (c) 
A.   3:1 1:2 10 ratios 
B.   1:3 2:1 4 ratios 
C.   1:2 3:1 12 ratios 
D.   2:1 1:3 12 ratios 
 

50. A troop has provisions for 276 soldiers for 20 days.  How many soldiers leave 
the troop so that the provisions may last for 46 days. 

 A. 136   B. 156  C. 146  D. 164 
276 tPuh;fs; cs;s xU gl;lhsj;jpy; 20 ehl;fSf;Fj; Njitahd rikay; 
nghUs;fs; cs;sJ> me;jg; nghUs;fs; 46 ehl;fSf;F ePbf;f Ntz;Lnkdpy; 
vj;jid tPuh;fs; ,e;jg;gl;lhsj;ij tpl;Lr; nry;y Ntz;Lk;?  
A. 136  B. 156  C. 146  D. 164 
 

http://www.appolosupport.com/

